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This Question Booklet contains 70 questions carrying equal marks. All questions
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All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly
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Questions are in both English and Kannada. If any confusion arises in the
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1. What is carcinogen?
(A) microbes causing infectious diseases
(B) drugs used for curing cancer
(C) drugs used for curing infectious diseases
(D) cancer causing agent
FAFB LB d0BTeRO?
(®) 3PcoTITED TREMNIDY HU0LD BRWIS BT, WeNED
() m{sai’do‘ nesSBse gusaleeNds BIPridh
(23) Bcosr5ed daerinds stz sudodeenmos BAGHD
(B) TyTO° GVOLDIPBIS 63T

70 2. Fly ash is waste from
= (A) nuclear power station (B) thermal power stations using coal
(C) house hold (D) hospitals
QI BOOT BTV wWHB 39,5, GVOENIZH?
Hes (v) @HoIwew B S0 (w) FOTen IR evEzo 33 TSI
M () n@ndod (B) wsgndow
3. Fluorosis causes
s (A) Chalky white teeth and bone deformities
(B) Arthritis
%83, (C) Spondilitis
bei « | (D) Herpis
a8 RRBRET 0T
() ) wous VY BN BoB) Sond AT
5 (w) =oBS
3 (8) 0B 3
. (B) B
o 4. ISRO stands for
L/ (A) Indian Space Research Organization

(B) Indian Science Research Organization
(C) International Space Research Organization

& (D) International Science Research Organization
ISRO &02080) 0350@)Bs), 33002031357

o (8) =oBodb® A BRete eriedesnt

i

3 (W) *oBobHY Zo° OFese unesEeRn
() BokT® M BTS® Bex® O’ e edn’
(B) 20b0° BT Fn° ORs’s eres wesn’
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5.

10.

Hiroshima and Nagasaki are associated with

(A) atomic bombing
(C) population explosion

(B)
(D)

&ORESI S0B) TN 0 WE, F0wWP2EST?

() TTIoee W0w® RRLE
(¥8) weRoaT, AL

Present total Forest area of India
3323 703 BeBB wid), 90, JTe3
A 12% (B) 15%

The biggest dam in India is

(A) Tunga (B) Kali
03T B3c BB VHTLD,
(@) 2oont (w) B9

Bio diesel is derived from

(A) Petroleum (B) Solar gas

T Bees Qodd 2303
(o) Sedeedado () MAWS vde

Biogas is a mixture of

(®)

(@)

(C)

(C)

(%)

(©)

(@)

LI

terrorist attack
poisonous gas leak

303Re3TTV B7[0e

IO BP0

17% (D) 19%
Bhakra (D) Tehri
(AL (B) 3=
Diesel (D) Plants
[deder (@) =%

(A) Ethane, carbon dioxide, hydrogen sulphide

(B) Methane, carbon dioxide, hydrogen sulphide

(C) Carbon dioxide, carbon monoxide, water

(D) Oxygen, carbon dioxide, animal waste

zs DT B 208, 32 oTa (]

() P, Bowen® o, wd &°, WA 3 &
(W) degen® Tawrd® a{, ug o°, Bden’ 38 &°
(3) TWFR & ud ¥, BJANW, Ve

(B) wduad, BWED @) WTT°, 5905 I,

Chernobyl nuclear accident occurred in

(A) USSR (B) USA

BdecrDef I0IPED VDTS T0PDAW ﬁmeé
(¥) oF () e$eds

(C)

(%)

Japan (D) India

T (@) %03
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12,

13.

14.

15.

Over irrigation of farmland leads to

(A) Erosion (B) Salination

(C) Chlorination (D) Carbonisation
©300R8 AeTZDOOE F9T0E BDH evoesIZH

(0) 3389 (v) oZdeson

(B) BRcocseR* (@) vewrdpiesn®

Soil erosion takes place due to

(A) Loss of vegetation cover (B) Watering the land
(C) Grazing of animals (D) Loss of gradient
BoLIP FSTL0ID YWOT VoI

(¢) ©onmEdT (w) ®3Be3y DedROT
() @38 DecdnIFood (B) ©@3d 2OR0OZ)E0T

The major effect of global warming is

(A) Animals will die

(B) Aquatic plants will die

(C) Crop production and yield will be increased

(D) Glaciers will melt and sea level increased

yorpeds QUEROBT S8, Fsfeln el

(®) 85I (W) wensone 7o)

(¥) TaevsTTO ws (B) Soowm> FOA AB0T, Soespd HBT

The main energy source for the environment is

(A) solar energy (B) chemical energy
(C) bioelectric energy (D) electric energy
$ORTT, B ad ST

(®) RPODFT B3 (W) UIm0bAT B
() ¥dT 3 (B) Wy B8

Salinization is !

(A) Accumulation of salts in water

(B) Accumulation of salts in food

(C) Accumulation of salts in body of animals
(D) Accumulation of salts in rocks

OS5 edeTT 30030
(®) JedBD o3 Jors (v) 5009 oI Fons
(¥) T BT O orE (B) 3ei¢d o3 30ns
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16.

1%

18.

19.

20.

2

The capacity to do the work is called as

(A) Power (B) Force
TOR INBIT FITOFE
() =g e (w) o

Acid rain causes

(A) Noise pollution

(C) Thermal pollution
3, B0 ABBOLDBNBIZT
(¥) 3w IR,

(B) D ;SJae‘}aiﬁ

Weathering is a process of
(A) Soil formation
(C) Mineral formation

il e v mlelale]
(o) d)ea% msg
(©3) DABpCS @3‘,

(@)
(@)

[T R

Strength (D)  Energy

535, (@) =%

Air pollution
Soil pollution

rebbY) ;ira@qj
a:bs.mm d‘me‘)?%

Rock formation

Crystal formation

8en em:s;%
BOYD Uu:s:s%

Blue Baby Syndrome is caused by which pollution

(A) CO

(C) Nitrate

WA, 236D 20BH[I* YBDoT w3OIT
(¥) vowFy® Inmved

() Wesers

Endosulphan is

(A) Weedicide (B) Pesticide
DOBWACRRT® 2,00
(v) ©vYdmes8T (w) &cd pogw

A mineral is a
(A) Organic substance
(C) Chemical substance

DAL W07
(®) mSobhad B
(B) DemPOLAT JXY
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(B)
(D)

()
(®)

(©)

(%)

(B)
(D)

()
(@)

Flourine
Mercury

Zpdea®
T3

Rodenticide (D) Herbicide

Wo3T meds (@) RR®eBE

Inorganic substance

Artificial substance
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22,

23.

24,

25.

26.

27.

The water crisis between Tamil Nadu and Karnataka is for

(A) Kumudwathi (B) Kaveri

(C) Krishna (D) Kapila

BOIF bIT BN 3A0PTBD ;bqgj R[OS BO JTE AFE, FoWoPAT

(¥) B3B3 dedren (w) wasled QedmaN

(w) za& OcdneN (B) B2 Qedrdh
Liquified petroleum gas consists of

(A) Methane + Propane (B) Methane + Butane
(C) Butane + Acetylene (D) Butane + Propane
oS Sedpedobo MAFTY, bl

(¥) Pen® + JFReaien® () eghen® + wablen®
(83) wRblen® + kIO (B) wabden® + B edent

The basic functional unit in ecology is :
(A) organism (B) environment (C) ecosystem (D) earth

9502801 TFT Fo0LF AF BT Bon

(®) ed (w) *0x7 (¥) JORBISIZ  (B) Ped

The term “Eco system” was first coined by ’

(A) E.P. Odum (B) S.A. Forbes

(C) Karl Mobius (D) A.G. Tansley

o 230 3R wedn “adeainET SUDE) evEoleeNAEod

() 2. WBIF (0) 7.2 FpWE

(B) Berfs Spcdobz® (B) 2.8 e

The dead and decaying organisms after their decomposition form J
(A) litter (B) soil (C) humus (D) vermicompost
Bednd 18 FYertonedd FHFZ GVotNIS I

(8) B3B8, (w) o, (8) BRI (®) adrieys

The living beings which depend on other living beings for food are called

(A) autotrophs (B) heterotrophs

(C) chemotrophs (D) epiphytes

©505N ¥3T BeDNUD), ¥SOODATHT BeANIB), oeriIzYT.

(¥) 3 evzdsch () PIBped Bedned

(@) vempabs Fped3 Hedridh (®) R0
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28.

29.

30.

31.

S2.

33.

One of the following is not an example for grazing food chain.

(A) Green plants — grasshopper —> lizard — hawk

(B) Zooplankton — small fishes — large fishes — whale
(C) Seeds — rodents —» snakes —» hawk

(D) Grass — deer — tiger

BNV, 2,080 Boedns Bw0d ZOBVM evmeBTE b

(®) BB IZNRD > BE - 8 — heon

(») 2E[JBreh - Ay Doedoried — BAT Qoesonish —» dvone
(B) Demneb —» @odvnedh — AL — NEon

(@) ey — %o - B

Succession beginning on an originally barren area is called

(A) autogenic succession (B) primary succession

(C) secondary succession (D) allogenic succession
DPATHIN WOBNOOS BB FH 0L BROFTIERTT), 20T T adIT.
(®) Fodo Sedad ez Ron (W) TPWT TS0

(23) E)ﬁéco.i: BBIT,TIE0 (&) T Iedodh uRrgSo0

Identify the manmade ecosystem

(A)  Aquarium (B) River (C) Stream (D) Ocean
SIS A3 FOIT ;=3 03O®), T8%
(®) QeTIZ R, () =B (w3) 3e° (@) =enio

In a parasitic food chain which trophic level is represented by bugs and lices
58 O30 ;Sgaiﬂmobq 3nis o) BeRorieh adns dpeRHR SS®), ARURIZS?

Ay T, (B) T, € T D) T,

Which is a primary consumer?

(A) Scavengers (B) Saprophyte (C) Carnivore (D) Herbivore

QIRF/)BO T, BT I
(®) wmomnTd (W) Bed3dned  (B) Snom®d (&) BAYHID

Forest Management is related to

(A) Sericulture (B) Silviculture (C) Apiculture (D) Olericulture
58T ASFBFH 0L 1{ Fowodd
() Sk ga (0) 3 za (@) zesL g (B) %eSed Lo
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35.

36.

37.

38.

Plants which grow in salt deserts are known as

(A)  Xerophytes (B) Halophytes (C) Helophytes (D) Pelophytes
Dbl SIATERRIV S A LTV OVS BRGSO, DTZT

(®) dcdoedest (w) = decdis () oedpegts (@) e e

The Red data book is published and updated by
(A) International Union for Conservation of Nature (IUCN) and natural

resources
(B) NGOs of local area
(C) CITES

(D) Govt. of India

O Bats B350 3598500 303) BATORB) RO

(®) eoa‘doaégai) oLRAoLE® Foos BORNN BN ep® Berdot wor® 9,200 eF DR ReRE
(W) TBedT H°.28. L. Red

(¥) 20.890%.

(@) 03 3vFT

Shola is

(A) The vegetation of valley (B) Coniferous forest

(C) Plants grow near sea coast (D) Endangered species

Bcen DVIZ)TO

(9) seiSod samd (W) 3docw SO0, Tord

(¥) =[I0T, 8edrd WSodos BRI (B) Q98w ©oumATLHS 2ex Juiers

Gene banks are example for
(A) In situ conservation (B) Ex situ conservation
(C) Botanical gardens (D)  Zoo

Gene ww 050rieh 208, svrR®0E
(¥) 2900 SS Bo0g= (w) &0 S Fovges
(@) i e (®) 9,3 Bormmaoodh

Example for Biopiracy of Indian phytodiversity

(A) Ficus (B) Lotus (C) Basmati (D) Sugarcane
7030 ﬁﬁﬂ;’;}aﬁéd ﬁe;ﬁﬁ%mrﬁsﬁﬁﬂ SV lArT Hels]
(¥) wsy () =33 (28) 2mx3 (B) Be,
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39. Biodiversity is more in

(A) terrestrial habitats (B) fresh water habitats
(C) marine habitats (D) desert habitat

sea $53 99 HuL

() R0 ed (0) 2% Qe SSHYD,

(B) ASVTB ISHISD, (B) F0Lzedod SSndd

40. Species diversity is
(A) variety and abundance of different organisms inhabit in an area
(B) variety of different organisms inhabit in an area
(C) total members in a species in an area
(D) variety and abundance of soil in a total area
2323 ;g,mmds Q0T
(o) womd 59,030 &) [ARIT T9,Ine 2PN B3 eaﬁéa“
(W) OB T,03TE) TR T, eINY AP
(23) 200 T9,030¢) RIS wedabdF i Bosk
(B) 2wt 39,038 Do G So3) VBTS

41. Gir National Park is located in
(A) Gujarat state (B) Rajasthan state
(C) Uttaranchal state (D) Punjab state

No® Ta&eody VTR EE)
(¥) rOwo TaEBAT (w) vowmE Doty BAT
(B) eV3a0L DIBTWAT (B) oz TorBAT

42. Penicillium derivation is an example for

(A) Ethical value (B) Social value
(C) Consumptive value (D) Aesthetic value
FA2dadbo BB 'ard% BVDIBOTH

(¥) TIFT 339, (W) =3BWeE S5
(18) wYs P (@) APordade B39,

43. Forest (Conservation) Act launched in the year

(A) 1970 (B) 1960 (C) 1980 (D) 1990
®0ey, (3007me) Fo0k) 250D0IRT SR
(o) 0620 (w) 0fe0 () 0680 (B) 0F€0
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44.

45.

46.

47.

48.

Ivory trade is related to

(A) GATT (B) Poaching (C) WTO (D) Optional value
TO3 3,WU) BWE, 020

(0) Bo.edes. (W) ©Yufees (¥) Buwp b (&) esobob 359,
Project Tiger is related to

(A) In situ conservation (B) Ex situ conservation

(C) Zoological gardens (D) Protecting tigers present in circus

B0 odeexsodn QIRF)WE, FoWoRHT?

) 200 3 Zoves 2) 30 IS 3o0eE
oy
(¥) @9 Sor@ed (B) RBFARBATR BoSre B00ges

Organic Nitrogen is found in

Atmosphere (B) Soil (C) Organisms (D) Rocks

(A)

I ODT PTVHIVT B For) WTHIT

(¥) S0 (w) o (v3) ednieh (B) wodned
Xerophytic plants are mostly found in

(A) Forests (B) Grasslands

(C) Deserts (D) Tundra

dedaesd b3z AR TIED S0 N 9 s0r> L3S

(¥) oonndd (w) BoewmzSeonsh
(w) Sooogdedoney (@) tiomp,
Biome is
(A) Fauna of the Ocean
(B) The Flora of the land
(C)  Communities and organisms interacting with one another
(D) Major ecological community of organisms within a particular climate zone
waleeso® ard
(®) =ono e
(w) Prdadb 35 Sfednah
(8) FIBVWLNRY BT ey @3 O3B Bowoy
(B) 20w ARFE, T0TITHBBATIS S002), BORT FS0WeedbNY 2ed FovoR
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49. The source of energy in an ecosystem is

(A) Sun (B AP,
(C) Green plants (D) Earth
SORC FZFod 3% Fop0

(®) =RpODF (W) 8.
(3) B0 FZND (B) PR

50. Chernobyl disaster was caused by

(A) atomic bombing (B) nuclear explosion
(C) terrorist attack on the reactor (D) flood

dd@pef [ npiged Bow e303030.

(v) ToSPED 2300w HSBOT (w) ToSPew BAgks

(8) Polecsa@sdon MICS wiZon  (B) I

51. The most important indoor air pollutant
©3 B3, F0DTT oB030¢NE Toodn SoITF0T lNIHTO?

A) SO, (B) CO, () NO, (D) H,0

52. Biochemical oxygen demand measures
(A) Industrial pollution
(B) Air pollution
(C) Pollution capacity of effluents
(D) Dissolved O, needed by microbes to decompose organic waste
wolee FATSF B BIR0E® o3
(©) BMWOT INIT,
(») =0 INIT,
(8) B0 BOVS 3% IRV IOGE
(B) =og m sedner RSO TEET), dedoRen ¥ngeEenoE FoNtLS SR BBTIDY,

53. The process of nutrient enrichment of water is called

(A) Eutrophication (B) Biomagnifications
(C) Respiration (D) COD

Dedn wFHe08 o TR 808 STZT

(0) odotdasesa’ (w) walneSRNATER*
() evaoRts (B) b8,
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54.

55.

56.

57.

58.

Soil pollution can be controlled by

(A) Afforestation (B) Deforestation
(C) Rain water runoff (D) Wind

DS s&m@@de&i QOB Voo RWBOT

(¥) wOegesde (») w©onws

(8) S dedd BOROF)BOOH (B) e

The discharge of warm water into river is called

(A) Air pollution (B) Thermal pollution

(C) Nuclear pollution (D) Soil pollution

D% AeTR), SR BACDEF)BOT 3w

(®) =eado SR (w) ovE SO

(¥8) =oswe SR, (B) =oeds SR,

Unit of noise

(A) decibel (B) watts (C) ohms (D) calories
Fw edados Soos

(®) Brwer () s (8) B (B) vy docdz
Genetic damage is caused by

(A) Radiation (B) Thermal pollution

(C) Light (D) Air

39 TR esg7e3 Bod ez

(o) 0w (w) o3 SPAT,

(B) Wdo (B) mee

In India endangered animals are listed in
(A) Environment Protection Act 1986
(B) Wild Life Protection Act 1972

(C) Forest Conservation Act 1980

(D) Indian Forest Act 1982 (revised)

PU3T BYATOUSITOS o, eIne D63, 23

(¥) SHOFT Fovgm so0T 1986

(w) SBFO Ko veoL 1972

(¥) ©Og Foogme saoww 1980

(®) wed8eads ©T8 Fo0gme FaoT 1982 (30=02w)
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59. Air Prevention and Control of Pollution Act amended on
Fo0d0 JT0E So3) :.'b:)@agj dodrod, e ﬁaoboéd%zsaabad SAE

(A) 1980 (B) 1987 (C) 1970 (D) 1984
60. The major chemical responsible for ozone depletion is
(A) Hydrocarbon (B) CO, (€) CEC (D) PAN
t.2doent DB, B HE TF0bNT
(0) BBamwes® (w) CO, (1) CFC (&) PAN

61. India’s contribution to world biodiversity is
:asdd 236 :sd:aqgsg 27903 TV

(A) 3% B) 4% (C) 6% (D) 7%
62. Nilgiri langur is seen in

(A) Eastern ghats (B) Western ghats

(C) Aravali (D) Himalaya

Qeond oRRD* 39 FEROFTO

(v) [pIF PefL () 33 Peinied

(B) eooxe (B) &3Pl

63. Khaziranga national park is
(A) Ramsar site (B) Arid zone (C) Dryland (D) Desert

Fabopoon Ua&JQiJ eV, TD)
(o) veBSmmO* Y (W) BFJOD (B) w0 Ped (@) Sooorded

64. Biodiversity helps in water-soil regime and this is

(A) Optional value (B) Aesthetic value

(C) Consumptive value (D) Ecological value

2ed FAFR) wo - Boew B abrdn FHe0d INBIE AR

() eadod S0 () FPorade B3¢,

(B¥) mM®T IR0 (B) oDmDT B0
65. IUCN publishes a book called

(A) Blue data book (B) Green data book

(C) White paper (D) Red data book

£.0000.2.9°. Do F0B03N BFLRB BT

(o) ed B3s H)Rw (w) 0O BIT DB

() B33, (B) %o B3 H)RT

A 14/16



Q.P. Code : 96012 RN e

66.

67.

68.

69.

70.

Richter scale is the unit of measurement of

(A) cyclones (B) floods (C) earthquakes (D) Tsunami
Ogo® Feer SRITIBY, _ vgaben evzolecnzizd
(¥) WoBSP3I () e (B) wRvoI (B) oD

The three ‘R’s for effective waste management are

(A) Rivers, Rain and Roads

(B) Reduce, Reuse and Recycle

(C) Recharge, Regenerate and Recycle

(D) Reuse, Reproduce, Regenerate

8% DSF@Ead S0 ‘R'neh

(¥) B30%, &o° SRy daeat, (w) YRR, dodex® wow® OF5

() Oworstr, Drspdess® 3y 055 (®) UBax. OSpBAS, Dumdess

TVs, DVDs, PCs, floppies etc generate

(A)  combustible waste (B) e-waste

(C) organic waste (D) nuclear waste

£3.2.1M%0 B8.9.8.n¢) o) ﬁoaj;aﬁwofmio e em:id.ao S0BIZS
(¥9) oaTZRS EDRA (v) a-=5

() Bowes® I3 (@) SoBmew w3

Acid rain is caused by increase in the atmosphere concentration of

(A) O, and CO (B) SO, and NO,

(C) SO, and CO (D) €O, and CO

U, B0 soburtecyts 8 SUARVE, Bua SeoBesTna) HTOT eotnrst
(¥) O, S3) CO (©) SO, Sz NO,

(8) S0, I3y CO (B) CO, 3 CO

Disease caused by eating fish inhabiting mercury contaminated water is

(A) bright’s disease (B) minimata disease
(C) hishomoto disease (D) osteosclerosis
BB ED Fe0AI QeOTS 250 QETT, 30BT adws sooes WO

(¥) 5 saones (¥) TSR3 FaowES

(8) SBpcSotsn saoes (B) edngeadecy cdacsst
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Fifth Semester B.Com./B.B.A. Degree Examinations,
March/April 2021

(CBCS - Freshers and Repeaters)

Non-Core
CULTURE DIVERSITY AND SOCIETY

Version Code Question Booklet Sl.No.
c NC 115103
Time Allowed : 3 Hours Maximum Marks : 70

INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a complete Question Booklet of
the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E, in the
appropriate space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg.No., Student ID, Q.P. Code, Question Booklet
version code and affix signature on the OMR sheet. As the answer sheets are
designed to suit the Optical Mark Reader (O.M.R.) system, special care should be
taken to fill those items accurately.

4. This Question Booklet contains 55 questions. All questions must be attempted.
Each question contains four answers, among them one correct answer should be
selected and shade the corresponding option in the OMR sheet.

S. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the
Kannada version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop
making any further markings in the OMR Answer Sheet. Be seated till the OMR
Answer Sheet is collected. After handing over the OMR Answer Sheet to the
[nvigilator you may leave the examination hall.
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IRBR)TI, AFE. BABR0D HedRUEtd wodh AIATS (OMR) 3T BYFaba, o=y =58
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PART — A/&%m0 - o

Answer all questions. Each question carries 1 mark : (40 x 1 = 40)
RRUT : 203 BIYR), BUI02. I3 2871 1 eos

1l Which form of social stratification found in India?

(A) Nationalism (B) Caste system
(C) Class system (D) Feudalism
PR03TA TR0 50 &mgﬁm’ adnd dfaﬁzdﬁg FWBIEI?

(®) overodd (W) w3333

(8) 3ne :%:S% (@) w@ﬁmadé :ddma

2.  The practice of Untouchability is a punishable offence according to article of the
constitution of India

(A) Article 17 (B) Article 25
(C) Article 15 (D) Article 31
YWU3W F0APINTE AIN= T &5 aﬁmééaa £32305 030 ToBAC0D) VTTITTNE?

(¥) B®017 (w) B0 25

(88) Beo 15 (@) 80031

3. Third Largest religious group in India is

(A) Muslims (B) Jains

(C) Sikhs (D) Christians
03w FopTTe v ‘L:S.raqa PIIET TOOT) e,
(@) SooedH (W) HID

() 2 (@) g3o

4. The Mandal Commission is related to
(A) Scheduled Castes (B) Other Backward Classes
(C) Women Issues (D) Tribals
B sadeenss) 1t SowoR2s

(&) =083, wesned (0) B3 LoBOIR Ierieh
(8) &L Fowods d=adb (B) womstafied

c 3/20 P.T.O.
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5.

=1

First Backward Commission established in the year

SATO HoToYE Inend esadeens) m@&:&md IR

(A) 1965 (B) 1935

(C) 1943 (D) 1953

Soliga Tribes are found in State.

(A) Andhra Pradesh (B) Karnataka
(C) Orissa (D) Uttarpradesh
Bedn wWBETE) ADINB) 0z BE Fow) WAHIH.
(o) ooy, Iue8 (W) TOFLT

(%) wOm, (@) ov30 TWeB

Which is the original Name of Buddha?
(A) Siddhartha (B) Mahavera

(C) Sambudha (D) Shankara
wd@ﬁ [R® BITD 0dE)BI?

(v) 2wme (w) ST

23) RowWOW ®) 3Zoso
(]

Who was the drafting committee Chairman of the Indian Constitution?
(A) Gandhi (B) Nehru

(C) Rajendra Prasad (D) Ambedkar
P03 Z0APONE TOBE) 330D VP FTO

() rmeoB (w) ®B=T

(w3) vatdeow, SR’ (B) worjers®

4/20
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0.

10.

11.

12,

The Head Office of the National Scheduled Castes Commission is located at
(A) Delhi (B) Chennai

(C) Bangalore (D) Mumbai
caéhcob ©083, a8 woleena geow, Teed obded

() Bxd (w) o3,

(©) Wondad (B) Swodd,
Globalization relates to
(A) Global city (B) World net

(C) World tour (D) Global village
PN3CEVMS) 1 Bowops.

(®) rfacwer 33 () Sre ek

(¥) [eFe ewoo® (B) necwer deiess
Bhagyalakshmi Bond Scheme is implemented in which state?
(A) Tamilnadu (B) Uttarpradesh

(C) Karnataka (D) Telangana
0D DaETE oo ¢ woor® olecesd oI IS NG?

() 3hmrd (w) V20 FB3es
(©8) voertsw (@) oo

Who is the first Women Vice President in America?
(A) Nirmala Harris (B) Kamala Harris

(C) Kalpana Harris (D) Shyamala Harris
O8e05E BaPR0 Bokws UGG Y 0dthH?

(¥) o=vre 3B (W) o @305

(@) vops 59,0x° (B) B0 &3,05°

5/20 P.T.O.
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13. Rural women migrate to urban area mainly due to
(A) Marriage (B) Harassment

(C) Fear (D) Children
MoQueE Worts BE0 BNd Bieandr Soi BRCRLD TaTE

(v) o (W) BBOBOY

() Bw08 (@) BB

14. Mahatma Gandhi called Indian tribes as

(A) Girijan (B) Harijana
(C) Bahujana (D) Mahajana
msemoammm thrlefcing wtﬁﬁ%wwdr&a ot FEDEIT.
(v) nows (») =0wd
(8) WS (B) Bodowd®
15. Communalism is a problem.
(A) Economical (B) Social
(C) Scientific (D) Socio-political
BRCINTITR) WO BRI, .
() oBFT (w) mSPET
(B¥) s (@) n3wedec - vawdeod

16. The child labour (Prohibition and Regulation) Act was passed in
year

120 FoR0FT (dker Fo3) Aod0Z e Fa08Y) 20N WoT FRE

(A) 1986 (B) 1976

(C) 2001 (D) 2015

(o 1 6/20
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17. India follows type of citizenship.

(A)  Dual citizenship (B) Multiple citizenship

(C)  Single citizenship (D) None of these

[AETof: o N oedaody mﬁbea’%d@ B0,

(®) ﬁ?dzu”v)déﬁ (w) WHITITS,

(8) »v T3 (B) adnyse ve
18. The backbone of the rural society is

(A)  Industry (B) Export - Import

(C) Shares (D) Agriculture

yRUSED Mo, Ae TR Wgevwn NS,

(®) Fmds (») 3w - o)
(¥3) Hedd (B) 3&

19. Globalization has reduced barriers between the
(A) States (B) Cities
(C) Countries (D) Districts
IN3eTT ) VBT emsaswmi RS SNBIIT.
(¥) omne (w) sridne
(13) de3ne (B) wSnieh

20. Which of the following state has the lowest female population according to
2011 census?

(A) Uttar Pradesh (B) Goa
(C) Jammu and Kashmir (D) Haryana
20113 wanes =50 ©303 TR Bobve wSF0aS, 0dR), BROBTI oo,
(¥) ev3d Fdes (w) rteem
(23) &), 303 5a8¢0 (®) =dainem
21. The fourth pillar of Democracy
(A)  Judiciary (B) Executive
(C) Mass media (D) Legislature

BT 3E FoeFe vort
(®) wyadmont (w) wa0dnron
(B) 3oz SRGR (B) Bozwoon

C 7/20 P.T.O.
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22.

23.

24.

25.

Mass media promotes

(A) National integration (B) Cultural diffusion
(C) Education (D) All of these
230D m:;’;j;ixj) ek __?e:i;‘em:s:ezimgd

(8) Cedgob HTI (w) 3om,8 JA0N

() 8w (B) 2edT 20RO

The races of the North Eastern Indian States

(A) Aryans (B) Mongoloid

(C) Dravidians (D) Indo Europeans
2030 éeaaﬁs Uaz:z.sriddﬁmﬁom WOOT RN _ i

(®) ©oDFod (w) Soorteeersodsd

(B3) AW (B) wodee 03BReS0HTTO

Fundamentalism is a kind of extreme

(A) Ethnocentrism (B) Unity

(C) Relativism (D) Culturalism
30ROYRINTIBR) 2,060 Dedod ®301PE el
(8) RBOGIPINRT (w) 933

(8) mTegemn (W) #9207, 380

An example of print media

(A) Radio (B) Television
(C) Internet (D) Newspaper
R0 8 SRGIT, 2,08 BumeedsadRN.

(®) Oerolec (w) WPUBBET
(B) ©o3WED (@) DIB3T

8/20
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y 28.

Q.P. Code : 96047

India is located in Asia,

(A) Middle Asia

(C) North Asia

903 DROIR LNGE, T 2ITH.

(¥) oG, vacdw

(83) v vacI®

Western Ghats are called as
(A) Sahyadri
(C) Agumbe

STFIBT BER0 PHUR)

(¥) 3339

(38) erozs

Name the two sects of Buddhism
(A) Digambara and Swetambara

(C) Vaishnava and Shaiva

WU PROFBIT HTR Fopnish
(¥) Briows 353) 3z2008

(B) Iz D) 83

(B)

(D)

)

(@)

I

Southern Asia

Western Asia

TEes HAOI

ﬁ%ﬁo DS&OIT

in Karnataka.

(B)

(D)

Manasa

Vrukshasri

PO FO0IeRNG.

9/20

()

(@)

(B)

(@)

(@)

BRRTVES

dﬂg@c

Hinayana and Mahayana

Shiya and Sunni

&egpodis S08) FoFaINT

I 303 309,

P.T.O.
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29;

‘Kathakali’ is the traditional dance of state.
(A) Tamilnadu (B) Maharashtra
(C) Andhra Pradesh (D) Gujarat
3659 TOTT F0B0T FZNTS

() IBPTIBO (W) BBV,
(B) eog, Bused (B) rwoes

30. Which place receive highest rainfall in India?

(A) Mawsynram (B) Chirapunji

(C) Agumbe (D) Himalaya
270030 BVHE 09 SBadns BB o3BT

(v) SPAIF0IBF ORI

() wrbozs (@) &RPOOD

31. Which state has the highest sex ratio in India?

32,

(A) Orissa (B) Karnataka

(C) Delhi (D) Kerala
03 TOBE) 83503 B, AoMTITIIIVY, BRoDT?

(v) wdm, () BEELT
(¥) w=9 (@) ¥eo¥
Divide and Rule policy was introduced in India by

(A) French (B) Dutch

(C) British (D) Portuguese
9o03TE BABRO 3o Qedadd), 25001 30T3R00

(o) Fowdd (w) B
(3) BDeesesTO (@) BperdrNesdd

10/20
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33. Kannada Language belongsto

34.

35.

36.

(A) Dravidian

(C) Indo-European
EISRALE: (Vb N
(o) ©IBT

() @odpe-o0iBRCDH0DHTE

Vande Mataram’ song written by

(A) Ravindranath Tagore
(C) S. Radha Krishnan

‘Sotde IP3T0’ ﬁ€3oi)idgl 0WBIBIT

(¥) Taeodmer sy rtnec®

(¥) oF. epogR

(A) Sankranti

(C) Ugadi

T 3T #nf)\ $mwmﬁd.

(®) =owa08

(8) odored

(B)
(D)

WD BokOWT, Hed.

(®)
(@)

(B)
(D)

()
(@)

(B)

(D)

(%)
(@)

Matriarchical family system in Kerala is

(A) Tllam

(C) Tavazis

Fe0YRd), BN, BT B0
(¢) @0

(3) 38

(B)
(D)

(@)
(%)

11720

R

___ language family.

Aryan

Sino-Tibetian

es0does

Adee ~ e3efe3adont

Pandit Nehru

Bankim Chandra Chaterjee

SoR3 FBTL

WO 230%3, 23E323F

is the harvest festival in Karnataka.

Pongal

Bhogi

Iporiesd

28meh

Tarwad

Karvana

B0TED

L ivlarmin]

P.T.O.
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37.

38

39:

40.

The word family is derived from Language.
(A) Greek (B) Latin
(C) Portuguese (D) German
3063002 DOWOTY RO IRV ICTN.

(v) Hes’ (w) o
(B¥) Fpesene® (B) wSoFQ
Caste is a social group.

(A) Closed (B) Open
(C) Free (D) Unfree
25930300 WOTD HRREBE FRRBHNG.

(v) S0UB (w) S
(¥3) RORPLE (@) Erjehla

According to 2011 census, the total population of India is around
(A) 128 crore (B) 100 crore

(C) 130 crore (D) 121 crore
20110 wIRDS TFT POIB 2,030, BWOR0;

(w) 128 ekl (w) 100 Boeed

() 130 Buoct3 (@) 121 Buoct3

Who demanded a separate Electorate?
(A) Gandhi (B) Thakar Bapa

(C) Ambedkar (D) Nehru
aimch BE,e8 ST Weagod), sedBth

() mMmoB () GO waT

(8) wodeBo* (@) TBD

12/20
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PART - B/2or - ©

Answer ALL questions. Each question carries 2 marks :
DY, BINID), @V302. T3 FF 2 wosrieh :

41. Muslims personal law is related to

(A) Sharivat (B) Mahabharata
(C) Tripitika (D)  Guru Granth Sahib
:h)ﬁm@wd 23,0308 FoEAT 1§ Bo20R2
(v) RDobs® (W) So®TI
() 33 (B) nod nog mker®
42. Summer season in India is during months.
(A) December to February (B) March to May
(C) June to September (D) October to November
303w el 500 Soned oA,
(®) BIowoor F2=0 (w) [ewPeonm Soe
(B) @R Q0T AT 0wo* (B) o8RO AT BS0WT*

43. Main reason for Bonded Labour is

(A) Poverty and Illiteracy (B) Globalisation
(C) Urbanisation (D) Privatisation
Bed STt S0, F0M

(v) wWE3E 33 VFBFOS (w) weri8esTe
(w3) ondesdn (®B) wmNEB0R

44. Mass media is playing an important role in

(A) Feudalism (B) Monarchy

(C) Dictatorship (D) Democracy
39 350D BRBEID) ai»a)zs T8, ABF 3T

(©) wdn3nd 363 (w) Oz Bz,

(©8) R=EHBT (®) %m@aﬁosa

c 13/20
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45. Match the following :

A B
A. Rajpath 1. Independence Day
B. Redfort 2. Rajasthan
C. Kumbamela 3. Haridwar
D. Pushkar 4, Republic Day

Codes :

(A) A-4 B-1 C-3 D-2
(B) A-4 B-3 C-2 D-1
(C) A-3 B-1 C-2 D-4

D) A4 B-1 C2 D=3

BHOD B0 :

A B
A, OuIHE ma:a‘o:g . oS
B. domdseced 2. UowAI®
C. Booyd Foee 3. é&mﬁd
D. ®RC 4.  nwoey O
R0OTEINGO !

(A) A-4 B-1 C8 D-2
B A e BlINICE | el
C)#-8 Bl C@uzDA

(D) A-4 B-1 C-2 D-3

c 14/20
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46. The Kisan Divas’is celebrated on

(A) January 23 (B) February 23
(C) December 23 (D) March 23
G;30 D=, Tor e32303eRMOZE.

(¥) %P3 23 (W) Fw=023
(23) BRowv® 23 (B) =wewte 23

(A) Nehru (B) Ambedkar

¥ 47. Who gave the concept of Tribal Panchasheela™?

; (C) Gandhi (D) Tilak
|
|

‘383502 Bowddeey saﬁq}dobaigl 03330 eBTTO?

() =R (w) eorSerT
() mod (B) 8o
48. At the present there are states and union territories in
s India.
(A) 28and8 (B) 30and 7
(C) 29and?7 (D) 30 and8
1
b RARTo 1l ] TpzgTie 203) TCOTR)BY3 BueBriveS
(¥) 28088 (») 307
(B8) 203087 (B) 303038

c 15/20 P.T.O.
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49, Twitteris a

(A) Print media (B) Outdoor media
(C) Social media (D) Electronic media
%uo‘ 2080

(®) ST INGED (w) BpTON IR
(B3) NPT LWIOTI (@) ad%mwé :ngsm

50. Two important border disputes in Karnataka
(A) Bidar and Kalburgi
(B) Belagum and Kasaragudu
(C) Kolar and Tumkur

(D) Uttara Kannada and Dakshina Kannada

FoFLIBEAR HTREL R0V N Qeorned
(0) DeBT® 03 FOWNE (w) BImd 03 TIRONRAT

() Bneens $3) 3TBA (B) ov3s BRE ) BYH THB

51. Buddha and Mahavira belongs to these two religions
(A) Hinduism and Buddhism (B) Sikhism and J ainism
(C) Jainism and Hinduism (D) Buddhism and Jainism
AVAIDSES FFACTT B Faorndn 30w
() &oTWR FRF BB zﬁﬁ@qﬁ;&}F (W) A°PRF S08) B® F=ofF

(8) &3 GRor 23y LB FROF (@) WP Gaor oI WS FdE

C : 16/20
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52. Match the following :
A
1. Face book
2. Decan Herald
3. KBC

4, F.M. Radio

Codes :
(A) 1-E 2-D  3-A 4-B

-
B) 1-E 2-A 3-B 4-A
€ 1D 2§ 3-AYPup

@) 1-B 2.¢ IV 4R

| B0 WBAD
A
1. et we

2 tﬁﬁéw‘ éc‘aeﬁﬂ

3 GO
- 4, F°. 0. BeRdadne
20FE3NYD

(A) 1-E  2-D 3-A 4B
@ 1-B 2:A 3B 4-A
€) 1-D 2B 3-A 4B

(D) 1-B 2-C 3-E 4-A

c 17/20

0 1

B
Reality show
Electronic media
Folk media
Print media

Social media

B
Bodndts Bae
BT SPGB
BT IRGI
B0 PG RO

IPET Sobtﬁag?.b
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53. Two important primary functions of family

54.

39.

(A) Reproduction and Socialisation
(B) Financial support and employment
(C) Education and Religion

(D) Entertainment and Joking relationship

FoEDOVE VB TYPAT T2ODENFO =3y
(0) RozBREIZ S08) TORINBCTT L

(v) uBFs Yowe 03y evrdAen

() 8gm %) P

(B) Sogdowd F03) IBRCB B0WOG

The concept of Dominant Caste was first time used by
(A) G.S. Ghurye (B) S.C.Dube
(C) M.N. Shreenivas (D) Dumont
‘B S oW BBy, IPBED WIATHTO

(») B.oF. PO (w) 2. 2 B0

(B) 0.8 Bedwan® (B) T=ots*

Expand NRHM

(A) National Rural Health Mission

(B) National Rural Housing Mission

(C) National Rural Highway Management
(D) National Rozgar Housing Mission
NRHM &), 50%

(©) Cae0d MCE g per; ©POINT

(w) Oadead M9 338 Podns

(28) TPALOD MRAICE Swed IBEHE

(@) Odagad BREEINDT’ 338 wPodns

18/20



Q.P. Code : 96054 AR A

Sixth Semester B.Com./B.B.A./B.H.M. Degree Examinations,
September/October 2021

(CBCS - Freshers and Repeaters — 2016-17 and onwards)

VALUE EDUCATION
Question Booklet Sl.No.
Version Code i 3 2247 8
Time Allowed : 3 Hours Maximum Marks : 70

INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a complete Question Booklet of
the available series.

2. Write clearly the Question Booklet Version Code A, B, C or D in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg.No.; Student ID, Q.P. Code, Question Booklet
version code and affix signature on the OMR sheet. As the answer sheets are
designed to suit the Optical Mark Reader (O.M.R.) system, special care should be
taken to fill those items accurately.

4. This Question Booklet contains 55 questions. All questions must be attempted.
Each question contains four answers, among them one correct answer should be
selected and shade the corresponding option in the OMR sheet.

S. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the
Kannada version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop
making any further markings in the OMR Answer Sheet. Be seated till the OMR
Answer Sheet is collected. After handing over the OMR Answer Sheet to the
Invigilator you may leave the examination hall.

O : By @ egdaly & e bogna'd SwBreEd.
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esgfe SFP* 0.500./ D.D.2./D.B%".dF0°. ST Hdey, w0’/ wdrwo’ 2021
(2225 - PO© o’ Odetsor - 2016-17 &om’ Sp°aE°F)

w"ae% 8gm
IR W° ScE®
noZ ssval) : 3 Pobdied nosg eosied : 70
m;&@rri@ri ReWIn

1. =0eg modoyieod 3gmse B P, HRFaLO, FVBITNG VP BOANS vFm> wRBe B
BODDRT WD) Dex) TOeFHIIR); F0edT IR Boex Fom> WOBA, BTD, bSO
03,9003 BOHPRFE 1ed B8, HiFob TBLIZR),

2. I8 Igad I3e® docw’ A, B, C vgme Dobay (OMR) evgs @§8odd), wrsaN wENKUeNCLR

-0

208 3¥E9 wdadfeso.

3. €u30 BFob (tu.20.60%) oees ANBIMG YR TBegp IR0 Mecodts Fosd, TYDE R0 23ets,
BE DI Boer %) B BT TaAFK® e Borle FHALR) FZEBRICB. IT BIFRYR), BT
SRe'e Bedo® (O.M.R.) 3341 esorbmmn Suiso3Boos 360 Snb3nesy wed JuPFones PIF

DeBEeIeso.

4. 33 D3Bain 55 BBRYRY wdteod), sen, FInvne eugdaieso. B8aleond It mow), evgondsy
De@depNcoZd. B3 BB FOINT 2,080 GUZTBRY, B8, B0l BRRTAY,WeT. B0k, TRRT LVITTD),
%.20.30°. VBT BF0d Bew® BowrEeieso.

S. 2 eu3dnds), Rt WENRIES 2.50.80° V3T B3Fab Hodad Soed F), VEDe Ded F0WOD), Woek
0000t BYJ0W RG> Bwes). 2,080 Wed word JIT wor3 03 BT YNV, e INBII, /
3R), FZrYay, P SeBBY, / w5 IZrdn, P InBBA, adn)e ¥osRYRy dedwpruHRY,

6. IBnd ﬁmﬁ 03 esoni PeR0LATOZ. ams wérwé Towic® eo3rT, c:iocbé:)w &on}, oo

o
BBNYY, ﬁds&)ﬁo@cﬁo

7. B0BeGod BouFgodEEY, BRURT $03R> okl weddd 3gm:le (OMR) su30 SgFohd At RO
BRBFHER), AU, JsBod BredioTdd word IVGTS (OMR) ¢u3d T3Fobey, 33) =33,
BRRBRN[IR IR, IRy BT abe Fo93038R . BesRab Boedr5osd 388, d) (OMR). eugd
2830dR), VBT Fo3T Aexy) 0Ty FABROVOT BAT BRENWBITO.

Note : English version of the instructions is printed on the front page of this booklet.
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PART - A/ 2% -
Answer all the questions. Each question carries 1 mark : (40 x 1 = 40)
2R, BNt eu3d, F3odeomd 2318 1 vos :
1. InIndia wildlife protection act came into existence
WUIRY, I 256 ZoUF 5200w 201 word IRF
(A) 1975 (B) 1972

(C) 1970 (D) 1969

2.  Green Revolution is associated with

(A) Agricultural (B) Fish culture
(C) Shri culture (D) Silvi culture
BA0VTY,08 0TV [OWOFHEIBY

(¥) FSImeod (W) esLmdd
(w) =TZBoreds (B) =T Semaod

3. Which generation human rights are called as ‘Red rights™?
(A) First generation (B) Second generation
"."}(C) Third generation (D) None of these
"60‘-‘@ B8, M1$0BT 0 38008 I B31YR), FCaber3B?
() Sete 3S30edd (W) ooBEBe 3SIPTD
) Srade 3630 (B) Bee, cinEe ve,

4. The word culture means
(A) Communicate (B) Cultivate
(C) Community (D) Inculcate

ﬁoﬁé@ IDW ¢y

¥) BoIB w) BB RR I
Y
(8) RR0E0D (B) oW Tt

A 3/16 P.T.O.
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5.

Which is the main centre of informal education?

(A) Society (B) Family

(C) Radio and television (D) All of the above
VOD0T e Sooa), Feow, AIRFH?

(o) 3R (w) Botddow

(@) YeBolee 3 BATTBED (@) BoedB dORP

When was East India Company established?

=i w'aoaodoa Foz o3 od»=en m@a’aﬁo&mm&?

(A) 1600 (B) 1599
(C) 1680 (D) 1870

Making laws are necessary

(A) to make people happy

(B) to make people enjoy

(C) to protect people from exploitation

(D) all the above

FIRABONER), SPBFH B0 83T 3
() wu0r FodeeEBRY ot IRBeD (w) =IO, uEoBteIZe
(1) wUORY, BRCRFB0OT T (B) oeds d0Re

Ambedkar Jayanthi is celebrated every yearon

(A) April 10 (B) April 14

(C) April 22 (D) None of the above
voSeB0f wobod B3 JIReFP _ Cord eneddRoded

(v) 28ef 10 (W) 2&e° 14

(B) 2° 22 (B) 5ocdB ad)Be ve),

4/16

AU



Q.P. Code : 96054 DRI A R

9. Which article of human rights deal with slavery?
(A) Article 3 (B) Article 4
(C) Article 5 (D) Article 6
S0E=S BIYNY 0 esveds) foweondolecdit J3BORIZT
(v) od¥em3 (w) o4
(¥) ool S (B) oRoied 6

10. Universal declaration of human rights adopted in the year

R0 BBYNY WBFYT T FEIBODRY, BoNCTOAT SIE

(A) 1941 (B) 1914
(C) 1948 (D) 1984

11. The common values of all professions are
(A) Acquiring knowledge (B) Commitment
(C) Sincerity (D) All of the above
e F3rYATOR BT, FIPYNL

(¥) wE SBoFHTO () wgd

(B) =Roeessd (B) oedi de)kp
12. There are _ fundamental duties to the Indians.

Padseaddrt 0000 Rowwerdesd 53?:'35ﬁe?$

(A 11 (B) 10

() 14 (D) 16

13. Pedagogy is concerned with

(A) Aims (B) Content
(C) Teaching method (D) Evaluation
égsosaﬁ\_g) i} 3ow0RIT

(o) R (w) a=ob

(B8) Weegme HPT (B) SPYIRIS

A 5/16 P.T.O.
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14.  Environment protection act was introduced in the year
TORT OB Fo00T HOB0IT IS

(A) 1972 (B) 1986
(C) 1988 (D) 1989

15. Where is the center for constitutional rights in India?

(A) Kolkata (B) Chennai
(C) Mumbai (D) Delhi
(Ariercialy Jrlolaiarct s 5&3{1@1 geon, H93?

() dwevs (w) ©,

(B) Bowoed, (B) Bz

16. Red data Book contains information about

(A) Red coloured insects (B) Red coloured fishes

(C) Red eyed birds (D) Endangered plants and animals
30x) WIosnY Hnvsy) cdwET Wil 303 werteodns?

(¥) dox) wed dewsnieb () 3o wem oeRoned

(%) o) FeI® JFrie (B) ¥LITVoURATOLS RRTIED S0y Fednied

17. Which of the following is the main source of ground water?

(A) Rain (B) River
(C}) Ocean (D) Canals
B8 FINBIHNYD, adoo)ed B edR dmags SROZNES?
(0) ¢ (w) &8
(¥¥) mend (B) woed
18. Indian Constitution has recognized _ as an official National
Language of the Country.
(A) Hindi (B) English
(C) Kannada (D) Tamil
3o08cad) ROJFIV/R) PoR0B), BeBT ¥hE3 yRodn rogHdds.
(@) &ob (v) =one=f
() INB < (B) 8o

A 6/16
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19.

20.

21.

22,

DM I

In the Indian constitution the word secularism means

(A) State has a religion of its own

(B) State has no relation with religion

(C) State tolerates religions without pressing any particular religion

(D) None of the above

PoU3T R0AFITTED, ﬁﬁ%oaﬁo I0T ¢gc
(o) oaz%@ 3@53@ 48 FIOF BROVTOF)YT

(W) cm%:z) FOrdeodnt adngre Howog Be0DY.
(@) cm%@ odsohyrde &a&—-’% ddoﬁ; @a*ma)aé QBT ae:amzssos-'m*d% 3&%5@@%§d

(@) SoedTR)rive aPIHBe ve

Deforestation will decrease
(A) Soil Erosion
(C) Soil Fertility
©0ey T8

() S ZDFY
(B8) [ods FoIZ3

38 IREIY

Land Slides
Rainfall

2308033
o

Who was the chairman of drafting committee of UDHR?

(A) Margaret Thatcher

(C) Eleanor Roosevelt

UDHR®S 8030 20803 85 goaNESdy 0dech?

(®) Serisdets® 3ot
(8) ©IenO° BRRLS

Causes of national disintegration
(A) Community

(C) Patriotism

Cagyeod BZeF3n Fa0ened

(o) IDwoeod

(@) deByd

7/16

Indira Gandhi

Srimavo Bandaranake

Llolaler)arisla]

8¢ 0030 WOWITITI0IT

Social and economic inequalities

All the above

FR00T ) BT YEIRTINLL
0T DORP

P.T.O.
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23. “Vasudeva Kutumbakam” means

(A) Live in a single family (B) Whole world is one single family
(C) Live in a joint family (D} None of the above

‘BROW BoEDOWTO STE WP

(®) 2T BB WeAROFHTEO (W) ake d3e 2,080 B0

(B) ©IYPT sotDoWTS WedRIF)TO (B) BoedTVZHndd cin)ne ve

24. To help without selfish motive

(A) Truthfulness (B) Sincerity
(C) Self control (D) Sacrifice
mﬁFd emdmeéaqnd B0 IPEIFTO 0BT
(v) =33 (W) TyIeied
() =odo daboge (B) =i
25. Article 51A of the Indian Constitution deals about
(A) Fundamental rights (B) Fundamental duties
(C) Constitutional rights (D) Human rights
27903 50500 51A duogsodn Wi, FBB0RZS
() Sopuyed BB (w) Boeeres FIrndd
(28) 02HANT BIYNL (B) Su= @B

26. Wildlife protection act was formulated during the period of

(A) Mrs. Indira Gandhi (B) Lal Bahadur Shastri
(C) Rajiv Gandhi (D) Manmohan Singh
St23e F00FE Fo03H0DR), 03T FoOTWE) TASREROLZRO?

(o) 83038 2000 Mo (v) e WBEAT® Zode
(¥) vendess® Mo (B) EBecBn® 201F

27. Which article guarantees freedom of speech and expression to all citizens?

(A) Article 21 (B) Article 19
(C) Article 17 (D) Article 16
0= ¥R Ens) D95 303 BPFE T9Z03, IR VeRIIE?

(0) esbem2l (w) edued 19
(B) wosoen 17 (@) osoed 16

A 8/16
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28.

29.

30.

31.

Which of the following is the most stable ecosystem?

(A) Mountain (B) Ocean

(C) Forest (D) Desert
INTIHRYD adoo3)mo £2&gd 303000000 HORT FFH 0deNd?
(v) wegpied (») =g~

(¥) oY, (B) Rdogiedd
Pardah is the practice among ) communities.
(A) Muslim (B) Hindu

(C) Christian (D) Sikh

TOT 2020TO __ AR0Wa0dnY e 3N

() Koo (W) &od

(¥) ¥3 (B) 2%

Value means .

(A) Useless (B) Notfit

(C} Worthy (D) Unwanted
SR 20T

(¥) esvzddeendod (w) wd=me

(@) odwery (B) Wermemmd

The welfare activities of differently abled people are under the
(A)  Ministry of human resource

(B) Ministry of social justice and empowerment

(C) Ministry of health and family welfare

(D) None of the above

‘:)z;)agl 287 wN0’ 603689 Wb e3FNYD Aty

(0) SPVI FoTTVRY Fedmow0d

(v) B[RS T3,0b Ry FWIeFTed FedTOODH

(B)  wteer 303y Botow FUm FOOD

(B) BocduIned odnz)de ®e

9/16 P.T.O.
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32.

33.

34.

35.

Guardian of fundamental rights

(A) Legislature (B) Executjve
(C) Political parties (D) Judiciary
Sweeyed BJ)IY OF

(v) ozomzeon (w) waadncon
() Demdeod IR (®) wy0dmont

The following are the list of virtues except one

(A) Obedience (B) Loyalty

(C) Friendly ) (D) Loving my family
S YNTF)NYS, cdmF)o IBogend Tt 2edoH)De,

(o) Sxeadd (w)

(B) Ak (B) O, BobpowDR), &e8RITIHT

Which one of the following is not a fundamental right?

(A) Right to life (B) Right to liberty

(C) Right to property (D) Right to education
BINTZHNIS, 0dnFHBe Soeees B8, ¥e)?

(9) WBHBS B, (w) B0, BB,

(8) wob BB, (B) 3850 &3,

The origin of the word “value” is derived from i language.
(A) Greek (B) Latin

(C) French (D) Italian

‘:»5"64%’ D0V FBTW SR CRTITY, _gRRoOT a’dmﬁﬁ%mﬁd
(®) et (w) ¥

(B) o (B) 2t3dodbe

10/16
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36.

37.

38.

39.

40.

The constitution of India was adopted and enacted on

(A) November 26, 1949 (B) November 26, 1947

(C) August 15, 1947 (D) January 26, 1950

23203 soamwdai% odvwen e@ﬁé%i@%mom&?

(¥) ®Jowo® 26, 1949 (W) w[owo 26, 1947

() oniaf 15, 1947 (B) =330 26, 1950

Which one of the following is not economic human right?

(A) Right to social security (B) Right to work

(C) Right to nationality (D) Right to form trade unions
INBINYD) iR esPrs Ioss BTNCOZ)DEY,

(9) =3nus P B3, (») 3oz 30603 BB,

(8) Tadeoddd &) (B) 29,70 Roghess TuIS B,

Which country has the lengthiest constitution in the world?

(A) France (B) India

(C) Japan (D) United States
0d»: Be3T ZoAFoN) WBSF MZT FoAPoT=NT?

(9) T, (¥) %03

(¥) ot (@) adbodtse® Jeese

What is the retirement age of the members of the NHRC?

(A) 55 years (B) 60 years
(C) 65 years (D) 70 years
NHRC w550 033 Sodm),

() 55 I3enied (w) 60 IIrieh
(¥) 65 I3 (B) 70 IA3cried

Human rights day is celebrated on

(A) 10t July (B) 10th August
(C) 10t November (D) 10th December
SRTS BHYNY aaazsdﬁ?oi)dgi 230303 Dveos

(®) 10 =g, (w) 10 eriz?,
(33) 10 SIowos (@) 10 Bsowcs

11/16 P.T.O.
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41.

42.

43.

44,

PART - B/ 9%r - 9

Answer all the questions. Each question carries 2 marks :
e B3RIN Hugdd. F3aleowd 3811 2 wosned

Value education was organized by UNESCO in I

mameaow 55'0:% Qgeadaigl Tot3) 830303030
(A) 1998 (B) 1999
(C) 2000 (D) 2005

The world wetland day is celebrated on

(A) February 2

(C) May 22

3 3e008 DTSy
(o) F=02

(@) Hoe22

Which of the following is

(A) Natural gas
(C) Coal

(B) March 21

(D) June 5
_ Dond e2303eendn

(w) =oews’r 21

(B) wee®S
not a fossil fuel?

(B) Petrol

(D) Uranium

FINBHNYE, odRRHTO SIS BRI,

(@) SINFT 2o
(¥) sdge»

(w) Sedgeef

(@) ocdodedano

R L

(15 x 2 = 30)

Education is the creation of a sound mind in a sound body is given by

(A) Plato

(C) Aristotle

Bges) udRerHo8 Beawd,
(@) =etdec

(38) wdmt

(B) Comens

(D) Dewey

33 ORI, FARIT 0> BedBIA
(w) TR,
(@) e

12/16
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45.

46.

47.

48.

Which of the following are fundamental duties?

(A) Safeguarding public property

(B) Protecting the sovereignty integrity and unity of India
(C) Developing scientific temper and humanism

(D) Al of the above

FINT oINPT Soreyges g3rrieh

(0¥) =TT B30TV, FITBIRYT

(W) BTEYPRZ I3 D) PUSE HTE TFRIRHTO

(83) IFRI% evden R INTITTBIEB, VPFRBRDZHT

(B) SocdB 20FP

According to child labour act 1986, a child labour is one who has not completed
his age of years.

2390 FFT 5o00W 1986 F5aT woos 37 FobR), SARFNL Jpnrredaddy
WO TINFT HVROBOTIS?

(A) 18 (B) 15
(C) 14 (D) 16

Petroleum is a

(A) Fossil fuel (B) Renewable resources
(C) Synthetic product (D) Convenient resources
Stde,edodo How0md

(o) IFaiods Rgs (w) BIeTORWE, ROTBRLNL
(¥) Rogiess eusdgy (B) ©BTRO J0TVRONW

Chipko movement is associated with

(A) Human right (B) Women welfare

(C) Religious activists (D) Environment conservation
B, BT BowoRATLF)TO

(©) [ BB (W) Dok seRH

(B¥) BoFT To0bFEIFD (8) =0T zovges

13/16 P.T.O.



Q.P. Code : 96054 DG AR

49. Children are forced to work as employees for the payment of parents debt

(A) Skilled labour (B) Unskilled labour
(C) Bonded labour (D) Productive labour !
B30 ROTR, FoSF0 R0TYRY, WeF0ITN FPFTTTN SRBIHW) y
(v) H0ed8 FoRMT (v) B T3 5oFT
(W) w3 TdeT (B) o=@y 8 v

50. The name which is associated with planting of trees

(A) Ramakka (B) Thimmakka

(C) Radhamma (D) Jayamma

Sooriend, SBJBO T FYNT 030t Bowodss

(v) oosdg, () 33, i
(8) og=y (B) waby

51. The chairman of the drafting committee of Indian constitution

(A) Dr. Rajendra Prasad : (B) Dr. B.R. Ambedkar

(C) Jawaharlal Nehru (D) B.N.Rao

PoU3T R0DPTVE FOBL 330D VFFDO

(®) wo. Cotdeow, ITOTE (w) wo. DO’ VoeWO® ;
(B8) wDUre® BT (B) D.on'. cox®

52. Ecology deals with
(A) Living component
(B) Non-living component
(C) Interaction between living and non-living component
(D) Environment
BORT eI FHBORDPH
(v) Ve Prswnied
(W) o2ies Pivned
(B) e D) vBed PeIvnd SBIT BT 30d
(@) S0x0 N

A 14/16
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53.

54.

55.

Malala Yousaf Zai who fight for girls education won the

(A) Magasesse award (B) Nobel peace prize

(C) Gandhi peace prize (D) Booker prize

Be) T 8Z0TN BRe0BE Soeewe awezs® ) ISt Idu ©0300a4 0l B3
(v) =Ris =33 (v) Bewierf zood 33

(B) meod Ze0d I3 (B®) west’ 333

Soil conservation is
(A) Conservation of sterile soil into fertile one
(B) Aeration of soil

(C}) Erosion of soil 4

(D) Protection agajnsf loss
Soe) 0FSN 0BT

£80
() w0 SoHF), FUSRE TN BOIIFRIFWO
(») oedn Seza0bod

£0

(¥8) Do 333
(B) Soeds SRFDY, FFROF) B>
National women commission established in the year
Tadeod Bobeo esodeen=m), IR IR

(A) 1992 (B) 1980

_(€) 1970 (D) 1960

15/16
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S. All the answers should be marked only on the OMR sheet provided and only with a
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Soedsal 3RD" B.2./D.50./ DA.D. /DB 0. IB VO,
urist /35owot 2021
(420407 Je° - FT0° 0F) B:5640°)

DRFT 03 B30

JdFo® S’

770 50> : 3 gPoédried noxg eosrnes : 70
O RFrvn Reusnid

®0eg Ooiiteod IgenSe B FB BFodbd, SoBITNE YETy FODE GPT cIRJ)Be Byt
2DDHT FTYINIR), Vexd) [OeIRSTR). H0edS cdwFHse Bae’d FoRd word), ecsagl %0300
0 I00S SOFPermed Wed B3 Hgods), SHabsTm) .

3B, BRgod SaAra® Seea A, B, C, D vgaw Eabs), (OMR) ev3d 3330309 ewsa wiikesncos

d T

AT 390 wdadiesw.

- Q [a4]
eu33 B3FaD (1.20.80%) e IOTARE FYBY, Boegp HTa SeoRes Foas, MBE OB tdees
B, B8 dcr K B, BYF Inev® Roed oo TR, IREBIER. BUIC BTV Bapes
Anote dedo? (O.M.R.) F331 exbronmn SicsaEoon 30 Snbarids wad Supiaed P8
SRELR0.

I8, D3gado 55 FZre) werteodn), 209 FBrdne eugdzesd. B3adeowd B3 mow), eu3orieR),
VedeRNcLZ. I3 St FOIRE 2,080 LTI, BN, Baly SRETAYUesd. Bod) IRBT TSy
t.00.60° eu30 BT Jew® Ineso.

DY, BVUFTNYR), AT WHBMRIT £.00.650°. BVZT BFFh FePodb Hoeek 3) Fzo Ded Zoawod Woek
@oo0ts* BRVoT MLTIR SRWeSesy. 20w Hed 20w BBR wonFos BuF FInYRy, P IPATY, /
33), IR, War INBRY, / ¥BF JInIR) P8 IPRBY adn)Be vosnYa) dedenrmde,

B> TYB 08y wor}, PRoHANYS. TIW FI[IY, Fowed evokHTT, TBobIKY, Horg, GRRAD
BBRR, NSRRI

Boegodd ST RAURT 03T Fois 1RO g (OMR) ev3s 33300e), AT RIS
BRAHEBI, DOFLet. THBBOL BediR0co woRd IRIKT (OMR) ev3d B3dabay 3= 388,
3RBLNBBOR ey B, SRBBA0NeE BP3TIERY, S8R BredpRUTT 338, Ay (OMR) eusd
BFOR), AeRH B3 Dex) BOegy BHTRNOE BT RAETVBT.

Note : English version of the instructions is printed on the front page of this booklet.




Q.P. Code : 96021 AR

PART - A/ &% - &

Answer all questions. Each question carries 1 mark : (40 x 1 = 40)
R, BBV ev3d. B3 FF 1 wos

1. Origin of species was written by

(A) Weismann (B} Oparin
(C) Newton (D) Darwin
‘LOBPS et ?g;%s"ed& [Ale1anle ¥}
(o) Fm, o (w) &30
(¥) SR b’ (B) e
2. Which of the following processes acts to remove carbon dioxide from the
atmosphere?
(A) Burning of fossil fuels (B) Deforestation
(C) Photosynthesis (D) Lightning

TFTT 00T YorRoE @, ¥t B S FYNT odns §abodn 3rsoBeso3?
(¥) TS BOPTNIRY, GVBRT)T () wdgmes
(@) @Wy8 Bodedes (B) oz

3. Which of the following state is the largest producer of milk?

(A) Maharashtra (B) Gujarat

(C) Tamilnadu (D) Uttar Pradesh
1 3Y50E QIR TotR) HoON BuTTI0NY BN REBAW?

(¥) Sozovexk, (») nozoes®

(B8) 3overd (@) ov3d Iues

4. Indian Space Research Organization rocket launching pad is located at

(A) Srikakulam (B) Srishailam
(C) Sriharikota (D)  Sulurpet
Ugeadd zaamzsaas F0BRCTT TDo¥es® SVBEIIHo geow,

(o) 8edo00 (») 8eZeo

(@) 8exadd0cks (B) mownvrSets

B 3/20 P.T.O.
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5.

is not a deficiency disease.

(A) Anaemia (B) Goitre
(C) Hepatitis (D)  Scurvy
_ %p030d0 Beense),

() UT&eds (w) nenod
() BIeesz* (@) =9,

Nonconventional sources of energy are

(A) Nuclear, Biomass, Wind, Thermal

(B) Geothermal, Ocean, Solar and Nuclear
(C) Biomass, Solar, Wind and Tidal

(D) None of the above

VROT,TI0T AOFPIE RN

(v) JoIecw, WeS0e8, Jadv, ZoDd

(v) PZeD, TS, F0T 0I) B[PV

(W) HeS08, 32T, T BBy FNCT PLYTIVS
(B) Boeds adn)ne ve),

Internet can be defined as

(A) A software program installed on a computer
(B) An electronic device for printing documents
(C) A world-wide collection of computer networks

(D) A power backup source

V030 LROT), Bt SYNT0Z F3 T SPBWBITD

(¥) riegodogwd BRLTHIT 20w FPEFSeo®

(¥) wedndah SoRen VT leNRT BTN FFT
(¥) Qw03 nesgodognY ween sorns

(B) 9@ Beadosad WS
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8.

10.

11.

Radioisotope used in production of Nuclear weapons in India is
(A) Uranium (B) Plutonium
(C) Thorium (D) Radium

U8 ORR, 3037080Y, eudoleehzom J¥TR FBoFI0ND (Radioisotope) :
AT,

) odwdedodo W) Iptlecdodo
(®) ) SRS
(@) Becdodbo (B) Gerodbo

Father of Indian Nuclear programme is

(A) J.C.Bose (B) Homi. J. Bhabha
(C) Vikram Sarabhai (D) C.V.Raman
POUIT Ju0ee alecskiod wiT

(o) .2 Ve (w) Bee. 8. Py
(8) DBR* WOGGI® (B) 2.9. OO

Washing soaps contain

(A) Potassium salts of fatty acids

(B) Sodium and Calcium salts of fatty acids

(C) Potassium and Sodium salts of fatty acids

(D) Sodium salts of fatty acids

3pgoden eusodeeNRIE F2BINYY 8 SYNT ol Wwosnda) BA0DUE?
(v) BRAF 8IY FPEPA0D0 BT

(W) BT uIned Fadobo o) BecRodbo P

(B) BPAF uRrid AeeBodo F0F) Fptsadodo VT

(B) BAYF uBiY ecBado OB

The Radiant energy of the Sun is due to

(A} Nuclear fission (B) Nuclear fusion
(C) Radioactive decay (D) All the above
Reobed T BFodw adnHrdoweNs?

(0 ©LITIS () JoSBoeew FNES
(8) S%TmFab (B) Foeds aeFp

5/20 P.T.O.
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12. Who invented penicillin?

(A) Alexander Fleming
(C) Galileo
PARI* ¥R, BBy LRBITO

(v) wdneoro® Faoor®

(38) nOAnee

13. DNA=

(A) Deoxyribonucleic acid
(C) Both (A) and (B)

DNA d0o@d =

() BetdueEaIobs Yaak

(B) (o) 3 ()

14.
(A) July 22-2019
(C) Aug. 15-2019

BO,0iRT-2 HVEIHBaiNRT B
(¥) 228czed, 2019

(¥8) 158 esrizf 2019

15. Expand HTTP

(A) Hyper Text Transfer Protocol
(C) Both (A) and (B)

HTTPob 93,3 0

(v) T U5° trnFo’ Jpctiocsaes

(B) (¥) 3 ()

6/20

RO

(B) Newton

(D) None of the above

(@)
(®)

dta?sesa‘

& B0edT IRFT B8

(B) Degenerated Ribonucleic acid

(D) None of the above

2
?;gsfcﬁs

(@)
(®)

Bddetsn Sulne B E0T

3 20edT ado)Te ¥e)

Chandrayaan-2 was launched on which date

(B) June 182019

(D) Sep. 18-2019

(») 188¢ zon* 2019

(@) 183e 2gowor 2019

(B) Hide Text Transfer Protocol

(D) None of the above

B B6° | tRHO° Jp cLdecsoer

(B) 8 Boeds oo ve)
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16.

17.

18.

19.

20.

Who laid down the first accurate laws of motion for masses?

(A) Nicholas Copernicus (B) Galileo

(C) Oldham (D) Einstein
B> we0r TP, Cadrid Bowe doborida) VDTN S 3TRAWS
(9) ABRcOR® BREBIFTR (w) nddadwee

(¥) ozt () onea’

The lens used to construct a Microscope

(A) Convex (B) Concave

(C) Biconvex (D) Biconcave
ARg BBFon 3adnddnt VI 0deeNROIT FoRATO 03RFHWO?

(¥) &ex Io3e0 (0) IS Romed
(v) aﬁ—é’acai IR0 (B) 8- 03, SorRT

Plants with green and tender stems are called

(A) Herbs (B) Shrubs

(C) Trees (D) All the above
SR Fo0BITVY, B0RTII FZNYDY, Q0T FB0S3
(o) ha (W) Seds

(8) S0 (B) oceds 203

Green revolution is associated with

(A) Agriculture (B) Milk
(C) Fish (D) Wool
IRNFS 00 BATIT,0800 ﬁsmﬂzisw{ BV

(v¥) FSzecd (w) o
(B) oesd (B) eved

The earth originated

(A) 4.6 billion yrs (B) 8.5 billion yrs

(C} 2.6 billion yrs (D) 1.3 billion yrs
PRI T, VR,

(9) 4.6 DAoLF® IJFNY &otd (w) 8.5 Do IR &Hots
(8) 2.6 DDabR® IRFNY &ots (B) 1.3 DDodon® I &Hotd

7/20 P.T.O.
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21.

22.

23.

24.

Pollutant means

(A) The substance which cause pollution

(B) The substance which do not cause pollution
(C) Both (A) and (B)

(D) None of the above

Sodess0snRY 2088
(o maaqs V0L IPBOI JRngo () qus V0L INPET az'gm}o
(B) () S03) () (B) & DedE adnI)Be 0or)

Lakes and forests are best classified as examples of

(A) Artificial ecosystem (B) Natural Ecosystem
(C) Natural biosphere (D) Artificial biosphere
B FYNT 3D SNer300%, 0S8 R03) Farorieh o3,

(o) g3z Jo=T I3% (w) drnFs I0=T JSE
(8) TRNFT e Ieod (B) 3o Be Jowob

Copernicus is well known for his contribution in the field of
(A) biology (B) physics
(C) mathematics (D) social science

BREBAFTR® B3 geg 8 BT Sarorioomen BATTNDS.

[A]

(8) deoen, (») sz,
(¥) nesszes, (B) =30 2

An example for G.M Crop

(A) Golden Rice (B) Oil

(C) Salt (D) None of the above
NI oo G.M Wemodd, sumesss

(¥) necon® gx° (W) eowef

() oud) (@) oeds adnF)Be v,
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25.

26.

27.

28.

One of the best solution to get rid of non-biodegradable wastes is

(A) burying (B) burning

(C) recycling (D) dumping

2 0TN ERV0LT 3BT S BBV JTIT GUZR INNE

(¥) BT (W) BB

(B) To*wIS (B) Qorgdonon DBODF

Which state irrigates largest percentage of land?

(A) Haryana (B) Uttarpradesh
(C) Maharashtra (D) Punjab

BUE PRA0DR), A0S0 wIBRATHS Toz,

(v) =dadon (w) ev3T IBies
(B) Sowov, (B) Sowows

Headquarters of ISRO is situated

(A) Chandipur (B) Chandigarh
(C) Bengaluru (D) Delhi

ISRO %eor, Feied a0

(v) woRex)v (w) wohenw®
(8) Wondedd (B) ud,

LASER is the short form of

(A) Light absorption stimulated emission of radiation

(B) Light amplification by stimulated emission of Radiation
(C) Light amplification stimulated emission of rays

(D) Light adsorption stimulated rays

S0’ SVYR)TO VBT B0§Z TP

(¥) deav® vwRFup’ AR detsn® HTEF wp® SeBodean®

() egjes‘ e;gsoég,ﬁe:ia‘ zq, ;gab%deww‘ VRN 5 FeBod Rt
(B3) g godddean® AP Sedn® HWHT® uP® Tew

(B) & smoadra® Apogdetin® Sesf

9/20 P.T.O.
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29.

30.

31.

32.

The most energy efficient and environment safe source of light is
(A) CFL (B) LCD

(C) LED (D) LPG

©3,03 F0FR0Td 3 JORT RoUgE0LB), Be0DE WUIE S

(¥) 2.95.0¢5 (W) 2528

(B¥) 2efad (B) oer.a®.

GPS means

(A) Global Pointing System (B) Globe Positioning System
(C) Global Positioning System (D) General Pointing System
GPS 2000

(o) Recwe® secd0bdont 33 (») Maes Jpradornt 06
(B) necwer Fpiador' 23 (B) wETeF Ia0Dokdon' 47

The main constituent of CNG is

(A) Methane (B) Butane

(C) Ethane (D) Propane
CNGEIDOS Soa), eosried

() docgen® (W) wpisen
(B) agen® (B) BpSenc

The National Science day is observed every year in India on
(A) March 28 (B) September 16
(C) June 21 (D) February 28
PU3RRA I3 I3 Todeod> 2R HSIFY BWORIHTO

(¥) Soews 28 (w) BZowof 16

(38) =avs21 (@) Fuz028
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33.

34.

35.

36.

The word Science comes from the Latin ‘Scientia’, meaning

(A) Natural phenomena (B) Knowledge

(C) Physical evidence (D) Experimentation
MRIT L3R IT FA0dR’ HoBT

(¥) BNz IGSPaRD () w8

(¥) 9038 JFHoaSneh (B) S03ncys

Who invented telescope?

(A) Nicholas Copernicus (B) Galileo
(C) Oldham (D) Einstein
QIR UR), BIRVIB D2

() QBecwez® 8AIVTT (w) ntddalec
(B) wRBeeB0 (B) ovfen

The Renaissance birth place
(A) TItaly (B) America

(C) India (D) Australia
‘daﬁdmaf; (Zlarr) ‘s‘g’)ﬁdoa%uedai’ I3 zsiﬁgz.’ej

[~}

(¥) 23 (W) ©oeds
(B) TS (@) wdgedain

Photonics is the field concerned with

(A) Generation of light (B) Amplification of light
(C) Modulation of light (D} All of these

EJOVEN 1 Row0gBEs 2.0B0 Feg TN

() W3S evzE () WS IS

(¥) 98 33.)5& o3 (B) Socds a9,
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37.

38.

39.

40.

The prefix ‘nano’ comes from a
(A) French word meaning billion (B) Greek word meaning dwarf
(C) Spanish word meaning particle (D) Latin word meaning invisible

PR :-.:335013 ‘mzsdfae’ 20RTOPHTO

(9) DdoL® dow 085 IBDOB (W) 3o d0WPFT NeF SROT
(¥) T d0uFFT W, HB° TEBOT (B) o6E ugrd vytsn® Sehod

The study of genes, heredity and variation in living organisms is called

(A) Cell biology (B) Ecology

(Cl Immunology (D) Genetics

S0BTérieR), T8I0y, TN WeANTS SRIT 0D FEDS T 0TI,
- o0 380deen3e

(¥) doc3 s (w) =0z

(8) =30y (B) wIe3s

First manned landing on the moon was done using

(A) Apollo 9 (B) Apollo 10

(C) Apollo 11 (D) Apollo 12

BoWS BoeeS INTID JATe OB OR), WIRBLOTO

(©) " egpectoe 9 (w) odpedoce 10

(®) odpedne 11 (B) wEpedoe 12

Global warming is primarily a problem of too much = in the
atmosphere.

(A) Carbon dioxide (B) Oxygen

(C) Hydrogen (D) Nitrogen

03ICHTI BUF €033 _ 2BORBO0T 250718T FoBIPTR) Fe3R0IT3.
(¥) Bmosd & ud &° (¥) swes

(8) SR (@) w08

12/20



Q.P. Code : 96021 | N [ e 1

PART - B/ en - O

Answer all the questions. Each question carries 2 marks : (15 x 2 = 30)
DR JFNYnA ev3d. J3 FFrie 2 Bosnied :

41. Match the Scientists and their discoveries :

_ Scientist ' Discovery
A.  Alfred Nobel i.  Vaccination
B. Edward Jenner ii.  Electric bulb
C. Newton ili. Gravitational force
D. Thomas Alva Edison iv. Dynamite - o
Codes :

(A) A-ii B-i C-iv D-ii
(B) A-iv B-i Ceii D-ii
(C) Adii B-iv C4 D
(D) A-ii B-i C-iv D-ii

AR PrY soBecgRoleodr Bo0dd WBoD :

DR Qe RoBRcpd
A. eaesgts‘ DVIAT S i. (355
B. o@m'r 850 i AWy DeI
C. SR iii. rdmpRrezd
D. 3w ud HR3e iv. dpastyes
wanedd .
Q

(A) A-ii B-i C-iv D-i
(B) A-dv B-i Ceii D
(C) A-ii B-iv C-i D-ii

(D) A-i B-i C-iv D-iii

B 13/20 P.T.O.
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42,

43.

44,

For a Fixed mass of gas at constant temperature, if we decrease volume, the
pressure will

(A) also decrease (B) increase
(C) remains constant (D) none of these

A0Z00  ZIDIT/ NIOBEY wowd A0 vl 302800 3653399(volume)5md 1= D)
SRRAY, w3y L3,

o) IBDIPNRIEH ) I3
- 23 -0
() .‘-:(.admmgd (B) 008 adn)de 8e)

Ancient Indian knowledge of theories on human body, symptoms of disease and
remedies in Ayurveda are made available in which Sanskrit text?

(A) Arthashastra (B) Charaka Samhita
(C} Chandasshastra (D) Aryabhatiya

Boon= 80e0T BN, Sweenny rosegansd SO eI)ng 33318 wodoSeran RIS, T e
03T 0l 50m,3 1,0PBA, FoLBIT?

(v) egroz, (w) 30 Fo&3
(¥) ovzon, (®) wgitdead

Difference between hybrid and transgenic or GMO plants
(A) Hybrids live longer and transgenics live shorter

(B) Hybrids arise due to cross pollination, while transgenics are produced by
transfer of specific genes from different species

(C) Hybrids are generated from grafting but transgenics result from
germination

(D) Genes in hybrids are under breeders control, but in GMO plants they are
uncontrolled

Q33Y I B30 IYNYNTLS as?sa-%s,
(®) 33N DegprFaoFN, 3o02030NRY BOTHO WBIBIZS.

(@) DI o8 SJoangabholon ev3odnds, Beeosd IV MR, esvIo8ead
serida), wied sadad IF N0 wI3B U DINT.

(¥) BIINYRY RIREDHEOH IIROITY, Bremesriva 30¢80008 IodPBRTIRIIH.
(@) 2P3INMIY, exbB088 Searivh FUMTT AAb0ZNBIR), BIR0SONYE, 36> WG,
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45. The observed increase in the average temperature of the air near earth’s surface
and oceans in recent decades is

(A) Environment change (B) Global warming
(C}) Health change (D) None
a3endn FBerdd e Doed 7 F03) Fr0E 300 TIRIFE, For woBTLT H0Fadv

(@) IS WHNIE (2) 3T FTINRT HOF

(¥) wdeait wBwISE (@) 2wHB ¥,

46. The process of hypothesis testing has

(A) 6 steps (B) 9 steps

(C) 7 steps (D) 8 steps
TFoOFob S0egad 3 ool BOINIRY, wIteoRS
(¥) 6 () 9

(®) 7 (®) 8

47. Expand DBT and DST
(A) Department of Biotechnology and Department of Science and Technology
(B) Department of Bacillus Technology and Department of Sparrow Training
(C) Both (A) and (B)
(D) None of the above

DBT 3533 DSTodbs), 25302 wdoad

(¥) Boetsradols® g’ woleem e F3) Baetsfraots’ up® T S 5w
(¥) Bt radiots® up® wWRAeR® 5w F03) BTetstraoots’ ugf m, Bhoe & dor
(8) (8) 3 ()

(B) 81508 adnIHne ve),

B 15/20 P.T.O.
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48. The decimal number system in use today was first recorded in
(A) Indian Mathematicians (B) Roman Mathematicians

(C) Greek Mathematicians (D) Latin Mathematicians

T3 WYFohYTOT BZ008 wod FSZODR), BABen FDARBI

(®) wCseod rieddzor oo (w) B’ Heddzos Bod
(W) Neo’ neddzer st (B) 83n° nedszen gsob

49. TCP/IPisa

(A) Network Hardware (B) Network Software
(C) Protocol (D) None of the above
TCP/IPod»

(v) Be*IFF BowraSen® (») S&*IFF moptiSent
(B) Fpclacses (@) 0edT alnF)wr e,

50. In Information technology WWW and RAM stands for
(A) World Wide Web and Random Access Memory
(B) World Wide Web and Random Access Man
(C) World Wide Webbing and Radium Access Memory

(D) None of the above

Bnb3 K 303eRPEY WWW 0% RAMS 93,3 des
(9) Ieks e S 3y oy,0E* P H%ed
(¥) I 3@ B D) 0y, 0BRF TF AR
(8) Sefr 3w SQore B3y SeBobo Pz Fo[ed
[~ 2 Ed ~n

(B) B0cdS cdnHrie v

B 16/20
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S51. Example for Renewable and Non Renewable Energy
(A) Wind Energy and Coal
(B) Solar Energy and Solar Energy
(C) Natural gas and Natural gas
(D) None of the above
8 $9NT 03RO SABIRWBITT 032 BAeFVIL BB ooy B3od uTeBTE0IRPNE,
() Dow e I Bocer (W) ReeeRt® aFse F3) ARt HRBE

(8) TR Mz D) MUV Mz (B) 8 reds cIPRT ve)

52. LED stands for

(A) Laser Emitting Diode (B) Light Emitting Diode
(C) . Light Emitting Device (D) Laser Emitting Device
LED »0owd

(¥) Sexo® advtdont Bodeer® (0) G adotSon Bolecw*
(@) g adodon® BI 7 (@) Sero® sdvedont ey

53. The outer most layer of the Earth is

(A) Magma (B) Mantle

(C}) Crust (D) Solid iron core
PRI ugsos BPONT Soe0wo)

(o) Inm, (w) Swotser

(¥) 8=, (B) =9w* 20x° dweo®
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VAW R

54. Match the items in Part A with appropriate alternative in Part B.

55.

Part A
1. Botany
2.  Zoology
3. Chemistry
4. Geology
Codes :

(A) 1-i 24 3-iv
B) 14 24 3-iii
(C) 1-iii 2-iv 34

D) 1l4v  2-4ii 3-ii

n - o 1§ BRTTT ot - D SRk :

Pt A

5’3683#6
da—eoi)aieaﬁ&

(A Yo) :Dasag@
BB :

(A) 14 24 3-iv
B) 1-i 2+ 3-iii
(C) 1-iii 2-iv 34
D) 1-iv  2-ii  3-ii

& 2 o =

(1)
(1)
(i)
(iv)

4-iii

4-iv

4-ii

4-i
(1)
(1)
(i)
(iv)

4-iii

4-iv

4-ii

4-i

Which of the following is true for “Sound”?
(A) Sound cannot travel through a vacuum

(B) Sound cannot travel through gases

(C) Sound cannot travel through liquids
(D) Sound cannot travel through solids

‘B3, S FINT adPJBO 30 BROWZB?
() =eF3 (vacuum) I0ee8 BAZSRTRO
(w) odond Jores BRI

(B¥) BINY Joees BA3RTBO

(B) 3ne Joees BI5e000

18/20

Part B
Study of animals
Study of plants
Study of Rocks and Minerals
Study on chemicals

PN B
To,edne eqsodoai
ﬁz,;srw eaq%odaai
DO soame,o ec%ocbai
CI0ddsny esz;iéod)w
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PART - A
NN - D
Answer all questions. Each question carries 1 mark. (40x1=40)
QTR @éj@m SVZOA. T3 §§m1 @oﬁdﬁg{ BROOTIT,
1. The play a pivotal role in imbibing values in true spirit.
A) Teachers B) Friends C) Purohiths D) Fakirs
QFITI TORPELIRHY ds’ae%ﬁe?s% w#d@%im%de?ﬂ TR0
TR,
A) 8353 B) Re&=dd C) QBeed3d D) FdeoD
2. The goal of is not only to acquire knowledge and skills, it
should be inculcate holistic human beings.
A) Education B) Traditions C) Customs D) Practices
oY, R ,5 02 @D@Se)én‘edafg{ RYRLD BRTTE), T30 RN, dmddda’g
wISRLIesd.
A). 880 B) Rommocdhnsd  C) e‘u’cééﬁ@o D) esgmRned
3. . is the land of introducing values.
A) India B) Thailand C) Japan D) China
. BRYMFR) HOwRT FRNOIPNT.
A) 02 B) gepow® C) &z D) 8¢
4 system is the backbone of any society.
A) Value B) Economic C) Political D) Education
q@:;om 03RRI AR NNIRAVI
A) &39¢) B) =63 C) comdeod D) &350
5. The goals of education should be enabling students to gain
knowledge and moral values.
A) Primary B) Secondary C) Tertiary D) Minor
oo RO DTRFAPR P By §88 SPYNER), DR
@3&@ SnadREWeR.
A) BT B) Q8ead C) Zeod D) @z
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6. What is the meaning of lesson plan ?
A) To read the lesson before reading it
B) To prepare all that the teacher wants to teach in a limited period
C) To prepare detailed answers all the questions to be asked in the class
D) All of the above
T8 03Re%N0D FrEeRd 9
A) nddaﬁa 20 WBRTEO cﬁdafo 2T
B) 2ea03 eﬁaﬁaodoe‘) L tev zirae(b,wa WO ewdso Ncﬁw@wd)do
C) gonsone Sedhdenss wen ), BInen O[T ema’dﬁ%ﬁﬁa Ndwéno@da

D) ﬁ)@@ﬁ@ﬁﬁ?@@

7. The concept of value education is based on

A) Idealism B) Fundamentalism
C) Materialism D) All of the above
T, 88eoTs TOBUNCRD B3 ﬁvﬁﬁd)ﬁ#& S0/ TS
A) edgrmd B) Swegedmma
C) P83 D) Soedyridezsp =
8. What is the main purpose of education ? // _"“
A) To acquire knowledge B) To acquire skills /
C) To acquire values D) All of the above i\'
88T W), GBS0 ?
A) = Qéﬁag NERITHTO B) @5@571%% NYRORY)T
C) wae%mssi Gilr{ovornita®) D) ﬁoe@é@ﬁqﬁe&m
9. International Day of Persons with Disabilities is celebrated on
A) December 3 B) December 8
C) December 13 D) December 15
©OBITHE L0 QF3eSIT aafddo B3 DI Sixlenoplgerin
A) @qowcss B) @NO&)O‘S
C) @Xowo® 13 D) &aowof 15
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10. Values are

A) Guiding Principles B) Ideals

C) Virtues D) None of these
ST el

A) INNFTBFT @33;71@.;’0 B) «mgrnsd

C) m’d%saﬁ% D) wned, cinmne 8o,

11. The are the first role model to the children outside their family.
A) Friends B) Teachers C) Colleagues D) Media
v BOLIDOWT TRTN da%e:)ﬁ BRTY Breef BRES® SNCITYT.

A) RedZ00 B) eV C) R@pedrennsd D) R

12. Personal development is
A) A limited process B) A lifelong process
C) A short term process D) A unlimited process
w3, 0088 fbodaa
A) ?»Od) NG&DJ@ B) 22ezompod &E0o3
C) vompeDd @%o& D) 003008 %808

B— |- | refers to the modification of behaviour by raising awareness
\0‘\gender equality concerns.
A) ‘Female sensitization B) Male sensitization
C): Gender sensitization D) Animal sensitization
Don FBNIEN FOWOHATZ mr&éoﬁa&q DR, SBIFFONE ToR) TRTOF T
RRERE, ARIBD.
A) ?\gﬁodedé B) @R RoIenS
C) Son Row3ed D) 9,63 RoFeTS

14. is defined as a process of developing and enhancing one’s
personality.

A) Human development B) Society development

C) Personality development D) Personal development
uwd OECINOS) PR TRRD 0B BURS T 0% Q0TI

AT, QROINT.

A) IR wapda B) 3@3nxw ezpda

C) d%é &)ﬁod D) do:b%# z:'s’#deéﬁ
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15. attitude is really important for one to progress in life.
A) Positive B) Negative C) Worst D) Wrong

BESITY. B[S MO DIRLPB) JRTONOIR B0 TN,
A) B8 B) sbogs C) e D) &%)

16. The sad fact is that a lot of kids are not learning moral values from their
A) Parents B) Teachers C) Syllabus D) Schools

002D Roneo3o033, uaejas’% das;;vo @3;3% Qon fg}éﬁ s:’;a’aegsr{%%
#@odwgegﬁ .
A) ZpeRFH B) ési\éd: C) aﬁqs_iga’n D) zodnsd

17. values are the prevailing values of our society, which change )
with time, and either coincide or personal values.
A) Social-Cultural B) Social-Economical

C) Social-Political D) Social- Business
ds‘aegsﬁ%b 5«7’}&#«'&3&5 2RYOHATOED @e&ﬁ%ﬁd S pvavlevsininleniat
wdc:arb_épd =03) cﬁmo@émmgd Sl 008 wﬁe%ﬁ%ﬁﬁ. i

A) mmma’—mof-;béﬁ B) mom0nels- s /.f"
C) mozess-oozseodd D) mdxa’,ﬁ—a’%w@d
18. A is a unit of parents and the children.
A) Family B) Drama C) Story D) Cinema
DO PRI 038) dag@’ 20T FEIBINT,
A) BOE002) B) o83 C) 38 D) 2d@»
19. The serve as a role model to students in school.
A) Teacher B) Peer group
C) Mass Media D) Public
__ S0HY NaplalysiZiwpiatsloniota! moﬁar@draozbagd
A) éaé B) A3x»s dzﬁrg gelets)
C) azonz TG D) mo@r =3
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20.

21.

22.

The

behaviour in children.
A) Mass Media

C) Educational

390, 528 SEToom UIRBO,

YRS,
A) BB RRGR
C) 333

-7-

institutions play a major role in developing ethical

B) Peer Group

D) Society
_ RoRneb @800
@

B) R0s 037, mooR)
D) 30w

96054

A diet will have an immediate, positive effect on your thoughts
and feelings.
A) Minerals B) Nutritional

C) Healthy

N

2remousy, wed3d
A) L;&aw{%
6) etnerias

India became an independent country on

A) 26t January 1947
C) 15 August 1946

A) 263 x3=0 1947
C) 153¢ una® 1946

D) Carbohydrate

B) oﬁac%mozﬁ
D) soeiner gz ets®

B) 15" August 1947
D) 26 January 1946

0oT) LITEY) B0, T30 WD,

B) 158¢ esrix®, 1947
D) 263¢ =330 1946

BTO) Ay SSRIINR 308 PORINY FoeeS Se£ars F5o0gs
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23. Preamble of our Constitution starts with the statement

A) We the people of society B) We the people of India

C) We the people of country D) We the people of democracy
I RoDTOST ﬁwm@ 33 BewBowod T R,0003:50m03T3

A) P FRewT zsﬁdo B) md) LIOTBTI I3

C) o) B3 %I D) o) @’m@’zﬁﬁdcﬁ W

24, refer to those values which are oriented towards social amicability
and coherence.

A) Social values B) Cultural values
C) Political values D) Economic values
ABRUT TS 2 RORoLTIZoD &sﬁ Beol 68 8Nt
WP 7#@333 VS eDRBI,
A) momne ws’ao A B) 038 mfdeynieh )
C) oozseodd ws‘be nsh D) e538 ds’ae) ﬁ%
25. is a solemn pledge given to the nation.
A) Preamble B) Human Rights
C) DPSP D) Fundamental Duties
er's’ég QeBT Noyes @’g%z%’modnﬁcﬁ
A) a“wdg@ B) =03 aéaﬁ@o
C) Bvam* D) abrae)z‘iraé BB ed
26. |s the foundation, on which the values are built.
A) Society B) Family C) School D) College
ds’aegsmfdgt QENFARI RTINS,
A) R&nes B) zoe3002) C) D) ez
27. Children are forced to work as employees for the payment of parents’ debt
A) Skilled labour B) Unskilled Labour
C) Bonded Labour D) Productive Labour
TPeRBT 9360 SeBRED mwm emdfa eANTIN DRCINE03 239 ORI
A) 003 D& B) ?95@ 0&%3 ds&%ﬁo
C) 2eamosd D) emaadé oRH
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28.

29.

30.

31.

32.

The name which is associated with planting of trees
A) Ramakka B) Thimmakka C) Ramamma D) Thimmamma
dadﬁedQ a”doaé)dg ROWOPIT BRI
A) Uadag B) édgﬁ C) ooaesy D) édiaﬂi
Gender equality is :
A) Basic Human Right B) Constitutional Right
C) Legal Right D) All of the above
Oon FRNSS
A) DpPR3 eSS 55% B) moodpod3 56%
C) 2R T8y, D) RoedSYnseze
More than 70% of world’s fresh water is contained in
A) Ponds B) Green Land
C) Oceans D) Glaciers and Polar Ice
gwgwcs 70% %oé éz&gd REQET) BWOE), BTN -
A) Brgnsd B) ®@adeded
C) mﬁdm‘b D) aodoéaﬁ%bma‘_g_z;g@eomwomﬁci
7 | is the process of facilitating learning.
__A)Education B) Philosophy C) Culture D) Values
3OF0RR, RoRRRRTRLT B 0300IRNG.
A) &30 B) 82297, C) Rom,® D) &Fdeynsd
Education can take place in settings.
A) Formal or Informal B) Educational or Non-educational
C) Horizontal or Vertical D) Familiar or Non-familiar
éﬁg@@ = BN, FOOHWBOTD.
A) BIDOT 9T NP0 B) 33538 wrgem J3peess
C) RB® B0 ©0WT D) o3 eges TOUSRQW
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33. reflect a person’s sense of right and wrong.
A) Morals B) Ethics C) Discipline D) Values
22, dﬁgod) <0 02 Sa’%ﬁeﬁ @ﬁ@ododg{ géwowm_é‘,d
A) Qe8 B) ﬁdééé’ C) &xy D) ds‘ae%mfo
34. Values are nothing else than the colourful projection of our
A) Inner light B) Outer light C) Sun light D) Tube light
IPYND IRy DeF B0z BECRRBODYT e 90,
A) 0303 W398 B) wad@as WIsd C) Recr3wdsd D) 3n¥s widsd
35. If wealth is lost, is lost.
A) Something B) Nothing
C) Everything D) More than everything
RT3 B BRETT, B3I BRENIZT.
A) o3¢ B) &3p 2
C) 2es3p D) wem3oes ),
36. Pedagogy is concerned with P
A) Aims B) Content
C) Teaching method D) Evaluation
e ARLIEY) QTB, AOLIOPAT
A) rbonsd B) Q&0
C) B¥repo 5o D) &RyRnas
37. Which of the following is not a Fundamental Right ?
A) Right to Life B) Right to Liberty
C) Right to Property D) Right to Education
6&6@#\5@#@1@; NPT DWROLRRS sgg ?
A) w5 56% B) mdéog zSd a’&%
C) es_ﬁgcrb 55% D) éﬁf@d 85\%
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38.

39.

Indian Constitution was greatly influenced by

A) United Nations Universal Declaration of Human Rights
B) Constitution of Japan

C) UNESCO

D) None of the above

LT3 RODTIRR) RWOOLS WHY TLRBTNB)

A) &%ﬁo:%oda BRTD BHYNG BT PRERT

B) %30S RoGOD

C) o'baa"ﬁf%

D) oeds coneyme ey

UNHCR is

A) United Nations Refugee Agency

B) United Nations Regional Group

C) United Nations Inter Governmental Body
D).United Nations Research Institute
UNHGR 20233

A) 030 Eie SERT? d@’%ﬁ DAY,

B) ocbaédéé’w@ Sewe” ORReT NPT

CF G303 Sema, Bo80° MBI 08 th\

" D) IR Ser?, 0% AT AR ES

40. Which subject in general deals with Values ?
A) Sociology B) Psychology
C) Philosophy D) History
ARBRF N 03703 DRV BRGNP FRBORYTS 7
A) RBREIR, B) @bdpeds
C) 3@&%@ D) wdxon

96054
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PART -B
TR - W

Answer all questions. Each question carries 2 marks. (15%2=30)
ac:g @“%ﬁ@m N0, B3 @’?Zr{ra 2 e203Ms0.

41. What is the objective of valuate education ?
A) To achieve a sustainable life
B) To know about the environment
C) To create awareness about our cultural heritage
D) All of the above
DY BRI 881003 QUTIEBTERD ?
A) z’o%é)d ﬁedﬁdﬁoﬂ PR
B) %0333 wrj\ BP0
C) 3= moxﬂéﬁ Cieleniielens Wi} €905 WRRRITYTI
D) edandedp
42. RTE stands for
A) Right to Education B) Right True Education
C) Right Time Education D) Rarely True Education}
&0°. 88,9, 20830
A) B &0 BT B) & tip e0dess”
C) g a3 awodess D) Beord wp, amodeds’
43. learning depends on cognitive development.
~ A) Always B) In calculation
C) Sometimes D) All of the above
BB 0D WFEesrioD oees esELowRBONG,
A) cdnmenew B) Sw0mg
C) ioﬁmﬁ% D) Soedsyndessp
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52.

53.

54.

55.

means truthfulness.
A) Honesty B) Accountability
C) Dutifulness D) Responsibility
DOTT R H0E NOTPF.
A) TEeds3 B) ev0g0mo008,
C) 63?&":5&‘-% D) =e0w0
An object with value may be termed as philosophic good.
A) Ethic B) Moral C) Physical D) Educational
2,070 SRV, BT BRYBRODN B _F LI IFUTIR.
A) 3388 B) Qeé C) o83 D) 3geds
Value education aims at the development of the learners.
A).Total B) Partial
C) Negative D) Exam-oriented
=P 850y BO030RHT SRR MOOBRNIERORT.
A): b, B) onids
C) abeeogs D) @oed &mode
What is the main centre of informal education ?
A) Society B) Radio
C) Family D) All of the above
Enghukoter: é@f@d w08, Feots, oI ?
A) RrFEs B) de@odne
") Buow D) SedSInoeme
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1. au’@ei @do@’mod 3%99&"6 31 BB PRIDY BOZNG BT BOODE BPT P W3 QAT
YIONIR), Vo) WOLEIBTLH, eI cdReYeSe TR ForWOTO, BB, 8o3TIHN VYT BOFLF 0T
23eS B8 WRBODR), BALIR). e
2. I3 RRod [Rra* deew A, B, C, D egme Ecnsy (OMR) «gs B83030¢ s w.onionnds
RRg BYTY, wdoheiedd.

3. 030 BFODL (.220.80%.) e INOTBLT FPEO, Woewy, Diodd, Fpeowsssd Bosd, W) B B TRFT
BReE" DN RO, RO, V3T wé%ﬁv'ab ew#@ SnEsE DeEoT (O.M. R ) SR eordeason
33200 B00R RO maosmesgl WED PO z;far mwdeﬁ:

4. I3 Bygodn 70 BIRIR) 1u9rieoBm), BRRT woInd) BroddFR. v BIRYRe evgoRed. Bodromd
IR S0, QUZBNYRY VeBPNTBH. B8 TB FOINT 2,00 LUBTH), WY, w0l WHRgRY e, wody
TRRT UBORT), B0, 0%, HUBT BFFODY, Berw® WRBLesd.

5. o em_spdﬁedsi Q7 WHNRTOT L. 230, ST°. GUBT HFFOD ToFOD eded 3 7m0 QLD T000L WO TWOWOE
TIROT TR BR@e3eB. 2,083 Fewf 2,08 BIP 2.0538,08 B3R FINIR, WO IRRTY, [ R, FZne), wer
BRBRY [ oTF FInd) 3 BRRTY, IR osndR DeBLRYOY,

6. T 83 ) eor} ALY, 3B TIW, Hotseas oo, Boswes, Sony, oD FINERy,
e —

7. TOeFod BNTODT), BRWRT ©0d FPorl weora rasse (OMR) 033 ©egobd), ammide T
BRBYTR), VORER). ERBBOD 0,103 womd AQT0w (OMR) €3d @ggodm) 3=y =33,
IRBBRA TR Ry RSy BRIEY03e 90T FevBeD Hoed 25080 w38, vy (OMR) wugd @egosa),
ReBE SIS Dexd) TOesy, FRBROWET BT BRERWRI.

Note : English version of the instructions is printed on the front'page of this booklet.
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Instruction : Answer all questions :
BRUR: QU BIRYN YVZOR:

1. The Ex-officio Chairman of Rajya Sabha is

a) Speaker b) Chairman
c) President d) Vice-President
oo, RO TG eszszsida
a) g3’ b) eje%ﬁ
c) ToRB3 d) ev-OoF T8
2. is not granted to foreigners.
a) Right to Religion b) Right against exploitation
.¢) Political Right d) Freedom of speech
sgsgt DT3eHODON QeRTPDE,
a) PONNFT aa% b) BremRBod &dacéd 85%
C) Tomsecd T d) =% 0,308, T TR,
3. Who was the First Speaker of Lok Sabha ?
a) Mavalankar b) Manmohan Singh
c) Nehru d) V. V. Giri
Snesayiod ST RYPTZ 03RT ?
a) SRTPoso* b) FIZecm® 20
c) Sz8w d) Q. Q. NO
4. The term of Prime Minister years.
a) 6 b) 5 c) 4 d) 3
TEOSBOOGNS OFTTHRY TR,
a) 6 b) 5 c) 4 d) 3
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5. Bi-cameral Legislature means

a) Consisting of one house b) Consisting of two house
c) Consisting of three house d) Consisting of four house
0,-REB ZorEoON BRI,
a) %o ATI b) »0& 3TS
C) RN AT d) ), ATI
6. Union List consists
a) 100 subjects b) 52 subjects
c) 61 subjects d) 88 subjects
Feory w% WP OB
a) 100 dRoDnd b) 52 d:edonsd
c) 61 dRcDdNH d) 88 D:moDdnsd

7. Who was the first Chairman of NHRC ?
a) Justice Sri. S. Rajendra Prasad
b) Justice Sri. Ranganath Mishra
c¢) Justice Sri. M.S. Venkatachalaiah
d) Justice Sri. H.L. Dattu
NHRC o Sp5e &3
a) BWACR® Ze. OF°. ToWeoTTROT®
b) Rea® ge. BonE* 0T,
C) ALK Be. T DT 0B
d) ZRER" Y. B\ A, TR

SPACE FOR ROUGH WORK
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8. Legislature is the

a) Part of the State b) First Organ of the Government
c¢) Third Organ of the Government d) None

JORFOOT LWOTD

a) oo yent b) B5orTT ST evon

c) REordw 33¢ eon d) canxcde e

9. In which year Fundamental Duties came into force in India ?

a) 1975 b) 1976 c) 1977 d) 1978
PO0BRE) 0370z WaRF SIRISTATOTS ﬁérdgsﬁefo 2O 20035) ? ‘
a) 1975 . b) 1976 c) 1977 d) 1978

10. World Human Rights Day is celebrates on

a) 10t December | b) 8th December
c) 26! November d) 26" January
0B, VRIS Sﬁ%ﬁ‘# DB J0T> e5230RANIZT.
a) 103 &Fowo* b) 83¢ &Rowo®

C) 263 S30200° d) 263¢ wI=0

11. Who was the First Women President of India ?

a) Indira Gandhi b) Annie Besant
¢) Sarojini Naidu d) Pratibha Patil
T3 FFed 0% ToR TS 03T ?

a) oo Mool b) e 23R0ts°

C) ABPEeB T3 d) T8y wowdeer

SPACE FOR ROUGH WORK
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12. Our Parliament consists of two houses
a) Vidhana Sabha and Vidhana Parishat
b) House of Lords and House of Commons
c) Lok Sabha and Rajya Sabha
d) None of these
g RORER TR BB
a) O Ay W) AR TORD)
b) 8¢z0083 Rt 0B RPFT X
C) Resxy =02y TaTy A
d) aRNYAT cInRPTe 9,

13. Which Article of India’s Constitution includes Fundamental Duties ?

a) 51 A b) 50 A
c) 55 A d) 60 A
POTBE BoNTRIE 030 DQODE Bopeind esr:%ﬁ@s% SYRCPNT 9
a) 51 A b) 50 A
c) 55 A d) 60 A

14. Who is the Cabinet leader ?

a) Prime Minister b) Governor
c) President d) Home Minister
TN S FoeDT 3R 2 |
a) TPoN=0E, b) oommo®
c) ToFme d) nE =

SPACE FOR ROUGH WORK
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15.

16.

17.

SE - 370

The age limit to become the member of Rajya Sabha is years.
a) 25 Years b) 30 Years
c) 35 Years d) 21 Years
D%y, AYed BTRTINED HedRead
a) 25 IRF N b) 30 SmFrsd
c) 35 BIRFned d) 21 IRFNSD
World Human Rights Day celebrates on
a) 10 December b) 8t December
c) 26! November d) 26t January
é)zgs WD ws%ma [Araptiier Tom e3230RePMIZT,
a) 103¢ Rrowo® b) 83¢ dFows®
C) 263¢ SB[owo* d) 263¢ mIR0
The Article of the Constitution deals with the Right to Property.
a) 32 b) 31
c) 29 d) None of these
HROD HIT TOWORAT BODTOT DY
a) 32 b) 31
c) 29 d) cInRRTe e
18. Which generation Human Rights are called as ‘Red Rights’ ?
a) First generation b) Second generation
c¢) Third generation d) None of these
‘Bowy) Si%mﬁodo’ OIRR BSRROR DI déaéﬁe}mq FCODTNZT ?
a) JRTO SRR b) 20ESe B3R5
C) RBRTSe BSERTd d) osnm)ce we)
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19.

20.

21.

The Rajya Sabha is a

a) Permanent House

¢) Has 5 years of tenure
TILRIOTN 2,083

a) 35000 ATI

C) W BRNY 9RO BROOT

Prime Minister of India is

a) Legal Executive

b) Permanent Executive

c) Real Executive

d) Nominal Executive
POT0BT BN 008,

a) TOINII FTOOIRF OTRHTS
b) 293,38 so03nromQme

C) TWFIB TICTRE OTRRHS

d) DoEeIE TR OTRRDS

‘Habeas Corpus’ is a

a) Writ petition

b) Committee

c) Legal Right

d) Political Right

‘TBEROITT TOTF AT DOLIT) 2,08
a) 08 e3¢

b) 08

C) B[RS &),

d) comdeodd ss%

AT A

b) Has 4 years of tenure
d) Has 8 years of tenure

b) TPy IRFNY @) B0t
d) 208D VRFNY 2R BRodT
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22. The President of India takes oath in the presence of
a) Chief Justice of India
b) Prime Minister
c) Vice-President
d) Speaker
03T mﬁ@a’a 0308 BRNNTY TBREARWS SRTTRRZT ?
a) #é@er%@smeoﬁod 20080, T, 0IRGEBTd
b) Tos=>0,
c) wﬁ—mﬁ@wé

d) ¢80

23. Indian Constitution came into force on
a) 26! January 1950
b) 26!" November 1949
c) 15" August 1947
d) 26! October 1949
%003 FoNTO 0N wodd%
a) 263¢ wx0 1950
b) 26¢ Sedowo® 1949
c) 153 sna? 1947
d) 263 es3newo’ 1949

24. The Chairman of State Human Rights Commission is appointed by

a) Governor b) Chief Minister
¢) Chief Justice of High Court d) Speaker

0o, S0 &%%ﬂe} s03Rens eszﬁégdaigta"e&m’owd&

a) DRI b) =0a)=008,

C) FBReedrs w0 R,03RREB d) =g
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25. The Article 352 of the Constitution deals with
a) State Emergency
b) National Emergency
¢) Economical Emergency
d) None of these
RODTHIT 3523 O 7 BOLOPRT.
a) oo 3333?503%3
b) oo e éaéas'aﬁbaéé
C) «=oF % &&r@ax&a
d) oInITe we)

26. The term of State Legislative Assembly members

a) Two years b) Five years
¢) Three years d) Six years

Doty RTALP RBRT SOTTHRG

a) 2 IRFNLD b) 5 SRFnsd
c) 3 SR Ned d) 6 S&Fnsd

27. The Supreme Court of India located at

a) New Delhi b) Uttar Pradesh
c) Maharashtra d) Culcutta
RT3 h’d@rezi 03P O0T 6eo§m®d

a) IRBBO b) ev2d Fe3es
c) abmcaﬁg d) 33
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28. Expand NHRC.
a) National Human Resident Commission
b) National Human Rights Commission
¢) National Human Red Cross
d) None of the above
NHRC @c3s30, 5o | »
a) WIS’ BRI’ SHBOLT TR ((Togy 0% TR [R8 wodneen)
b) MTI® BRFVT G TR ( Tdye0D BRI TN =odren)
C) SRS BRFOT T RA’ (004,00 TR S 53,7°)
d) 2003 cIRPTP )

29. Indian Constitution is

a) Flexible b) Rigid

¢) Flexible and Rigid d) None of the above

D OTIAR e AIADINN)

a) R0Y b) sdes

C) AO¥ &08) 8969 d) BoedT R e
30. National Woman Commission established in the year

a) 1990 ‘b) 1980 c) 1970 d) 1960

T28y,0030 3087 SOIRENBI) m@&#md PRE

a) 1990 b) 1980 c) 1970 d) 1960
31. The Chairman of the Constituent Assembly of India

a) Dr. Rajendra Prasad b) Dr. B.R. Ambedkar

c) Dr. Radhakrishnan =~ ' d) Ram Narayan ﬂ

IO0B AODNTORT TLIT0 BBCID @q.fsﬁhda

a) @. Tordeor, BAT® b) @, w.u0°. woers®

C) @. TOUTHS d) ToT0 TN
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32. What is the root word of the term ‘Constitution’ ?

a) Constitute b) Constitutional
c) Corporate d) Common
‘ROGRT T RO BT C33e)T3d ?

a) TRRE® b) o RLRRI
C) BoFPFTes® d) =

33. Article 40 deals with

a) Gram Panchayat b) Taluk Panchayat

c¢) Zilla Panchayat d) None of the above

403 OO BRODT.

a) ™Ed BoPOIT b) oeRE® Wowwodde®

C) 2B WO d) B0edS oBRYTe B,
34. The Head of the Central Ministry is

a) Home Minister b) President

c) Prime Minister d) Speaker

Fe0T W0GTIOBOT aiwa%#@d)

a) N®R00E, b) oox @8

C) TSR0, d) R

35. How is the President Elected ?

a) Direct Election b) Through Nomination
c) Electoral College d) None of the above
m%ﬁéoﬁad& ert 2T00RTIT 2

a) 33 Woonm b) w80 e
C) 2SERI0ST 53623 Woews d) oS cXRPTe B,
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36. How many Articles in the Original Constitution ?

a) 388 b) 395
c) 420 d) 448
RO BORTISHE ), DONVES 7

a) 388 b) 395
c) 420 d) 448

37. The present Higher Education Minister of Karnataka is
a) R. Ashok
b) C.T. Ravi
c) Dr. C.S. Ashwath Narayan
d) Basavaraj Bommai
TF LTE BORS YUIT 3T Lo BB
a) e30°. edees
b) 2.8 3D
C) . AR eﬂ%@;moaodasa
d) REToR WRTROV

38. The Headquarters of ‘'UNCHR' is in

a) New York b) Paris
c) Geneva d) London
‘UNCHR'S @550 8¢3¢0 9,

a) SR b) =5,0%°
C) e d) w0z
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39.

40.

41.

Voting age in India is

a) 18 years

c) 25 years

TSRO, BoBLOTE OB,
a) 18 @aFnsd

C) 25 JRFNED

National Human Rights Commission is an
a) Autonomous Statutory Body

b) Government Body

¢) Semi Government Body

d) None of these

Ta8y,e00 BRT=S BRYRY es0dRen 2,00

a) @003 erafdaiwajp ""\’0733;

b) mTrus #o;'?’p

C) ©0-35F T a’oﬂ@

b) 21 years
d) 16 years

b) 21 IR ned
d) 16 IRFNH

d) cdnR)Te e9e)
The Article of the Constitution concern with prohibition of
untouchability.
a) 18 b) 17
c) 14 d) 15
&R B3 JFEG 8208 RoIRT 2
~a) 18 b) 17
c) 14 d) 15

SPACE FOR ROUGH WORK



G A 15- SE - 370

42. The Articles 36 to 51 of the Constitution deals with
a) Fundamental Rights
b) Directive Principles of State Policy
c) Elections
d) Public Service Commissions
RO 36 00T 513¢ HONYITR wenRpoRTIRT
a) RRVPRS BER
b) Do ded ATIFeTE B, ned
C) WONOREBNTO
d) Seegiem wodrennd

43. Who was the power to dissolve the Lok Sabha ?

a) Vice-President b) Speaker

c) President d) None of these
eirae#ﬁzsojaxgi QDRWFAR QTT O3RN BT ?

a) YVH-ToH TS b) Ry

c) mﬁ@wé d) odnde ve

44, The Upper House of the Karnataka Legislative is
a) Legislative Council
b) Legislative Assembly
¢) Rajya Sabha
d) House of Lords
BIF 838 ZORTONT oY
a) ZIRFON R00RO
b) zorsvon B3
C) DoAY
d) &ezdos %3
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45.

46.

47.

48.

The Indian Cricketer who was nominated to Rajya Sabha was
a) Sachin Tendulkar b) Kapil Dev

c) M.S. Dhoni d) None of these
TR ARG DROBOLP0RTES LPTBT §563° e5t3rws

a) 3 3oz3:ae%c‘ b) saer Beas®

C) Q0.F. PR d) conTe @)
Total strength of Lok Sabha members is

a) 542 b) 543

c) 544 d) 545

AresRyIod RBRT W), Ro&y,

a) 542 b) 543

c) 544 d) 545
Constitution of India guarantees, how many Fundamental Rights ?
a) 5 b) 6

c) 8 d) 7

ERTE BODGOR ) TRV BN, 3roe3rS ?

a)5 b) 6

c) 8 d 7

The Directive Principles of State Policy have borrowed from
a) England b) Ireland

c) Canada d) America

Dot DTIF BT B NV, eS0T ATHED BEODTDOB.
a) |orjoE* b) o

c) 33 d) esze0%
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62. The Indian Constitution has been divided into

63.

64.

a) 16 Chapters

b) 22 Chapters

c) 24 Chapters

d) 25 Chapters

ADle 1w #o&)z;add&l SR, GYODNTIN DYPNRONT ?
a) 16 egRodnsh

b) 22 e55R0Nd

C) 24 5RODNRD

d) 25 egwodnsh

The British ruled India from to
a) 1858 to 1947

b) 1867 to 1947

c) 1757 to 1948
d) 1647 to 1937

83D OCIIIY 0033 3SR &0y,
a) 1858 oos 1947
b) 1867 00w 1947
c) 1757 ooz 1948
d) 1647 00w 1937

The Fundamental Rights are incorporated in part of our
Constitution.

a) 5th b) 3rd C) 4th d) 6th.
AR A NS BoRwER3 BRI ReORRAT.

a) 53¢ b) 3¢ c) 43¢ d) 63¢
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65. The Council of Ministers collectively responsible to the

a) President b) Prime Minister
c) Lok Sabha d) Rajya Sabha
008 BB CIRON ADTEE WL BROOT 2

a) ma@@@ b) Sesaddod,

c) SresRy d) oo%gRYS

66. What is the retirement age of the member of NHRC ?

a) 55 years b) 60 years
c) 65 years d) 70 years
Tody,e08 RN ﬁ%ﬁ@ godpend ATRT A TWODRY,

a) 55 IRFNLL b) 60 IRF &L
c) 65 IRFND d) 70 IRFNO

67. Ordinance issuing power lies with
a) Prime Minister
b) President
c) Speaker
d) Home Minister
Rony et BRORRIS 9GF0 BT
a) TS W0
b) oaﬁgm’a
c) g0
d) nE=de8,
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68. Who appoints State Chief Election Officer ?
a) President
b) Governor
c) Chief Minister
d) Minister
0025, 08, 2R SRB00DR, 033> FeawRTYT ?
a) mﬁ@a’é
b) Tox e
c) S0,
d) 00§

69. How many types of Writs are there ?

a) Six b) Five

c) Seven d) Three

@a’% ATl em@a’_@ﬁ@d 9

a) &b b) wH

c) o d) <o
70. Human Rights are divided into types.

a) 3 b) 5

c) 6 d 2

BNVEINDY 6&&#@3@{ | OGNS DonRICONT.

a) 3 b) 5

c) 6 d) 2
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PART - A

ALY )
Answer all questions. Each question carries one mark. (40x1=40)
R BINene G030R. B3 FFokw 1 808 BeodIT.

1. Characteristics of innovations are

A) Measurability B) Fund requirement
C) Immeasurable D) Both A) and B)
JREIB0D oﬁwﬁ@odd
A) ©803LTOTING B) wormey @33
C) ¥0hoanttRd D) A) &02) B) ~o@e
2. Logic and reasoning are key to
A) Responding to a message B) Message understanding
C) Receiving a message D) Critical listening
3B 0B TRFINTFCRP T,30800N
A) RogdeBnon &3, cAROTTI B) Rode3ne=), SEFRIRBRTRHTO
C) ‘RoBed=R) AFF0RTT D) $®gc=on Beeey TN
3. Values connected with solidity of community is termed as
A) Individual B) Collective
C) Intrinsic D) Instrumental
TSNTONT aoésa”ﬁ ROWORAT wsa@?srwag &ent FTODWTOT
A) S3n3 B) momo0&s
C) so3nes D) &g
4. The first in managing one’s stress effectively is to
A) Alter the situation B) Adapt to the stressor
C) Identify the sources of stress D) Avoid unnecessary stress
2T WIBeIY, ABFLOABY, BRTOFTN BOFHRITOSRNTIZE.
A) TOYSOIRY, WBRCWR - - B) w3wg RBroddes,
C) w3BB Saeones) nodbea D) &8ng, wir®IY Bk
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5. Path-goal model of leadership was introduced by
A) Martin Evans and Robert House B) Fred Fielder
C) Robert House D) Whetton
TODBBR T RRee’ WREO | 00T oW,
A) IneFs® BN F0BY T T B) & feo

C) oowes's mox° D) Qeess*
6. An ideal leader’s character includes
A) Honesty B) Competency
C) Co-operativeness D) All of the above
LY, STIF FooBS OLansd
A) T,RRe3T3 B) mosbgy e
C) :ssm% D) &0ed8 2z
7. A priority is .-
A) An action or intention that takes precedence T
B) The most desirable goal |
C) The goal you accomplish first in any given way _
- D) The most beneficial goal | [
95,3 woud
A) To0DF ) e_mz%esw) &scsééodaaigt wdm&‘aﬁ%@m
B) 808 ea@begrdeod oo
C) odnxcde Oed0deREER TOOODRY, B, BTN FPRITY
D) 8,08 es08pe088 10
8. Characteristics of creativity includes
A) Universal and innate B) Produces something new
C) Wider scope D) All of the above
3 w3Bewd0o30 B YR, BoHD
A) TTEET RO PO B) “mowmte RerEgRy sz DR
C) oo ms@ D) 0ed )36
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9.

10.

12.

13.

Creativity is used in
A) Arts and fine arts B) Science
C) Both A) and B) D) None of the above
k;uséwéod) evaEodnens)
A) 38 30 ©IESND B) s
C) A) &3) B) a0&R D) 30T c3RPTR &)
There are “steps in the goal-setting process.
A) Two B) Three C) Four D) Five
10 T3S0 T,8, 030009, BOBNYSS.
A) QTR , B) soetd C) ™o, D) 2o
. In which year Lefrannaois offered the definition for the significant self awareness ?

A) 1993 B) 1983 C) 1996 D) 1986
O3RN DR T, S, T FPeCWRT NROTTF BOS0 TGS 339,509, TR, DeRWR ?
A) 1993 B) 1983 C) 1996 ‘D) 1986
Innovation is both conceptual and
A) Perpetual B) Expensive
C) Non-existence D) None of the above
FOR000 BOTZF O QCER SNT.
A) Zo33 , B) @000
C) eA3n0, D) 2R0edS odnne e,

is an interpersonal skill training.
A) Soft skill B) Hard skill
C) Intermediate skill D) Basic skill

2,000 9030, 3€03 T 3023e803NT.
A) ST 3, B) o 5°3e)
C) Ro75080 T3, D) Rwewyins 3,
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14.

15.

16.

are meant to inspire, instruct and set a good example.
A) Autocrats B) Bureaucrats
C) Role models D) None of the above
ARSF, ReBIR L3 LUTPBTBAIHNGS.
A) Xor o0 ' B) esmonsd
C) 08, Inwond D) &0eds cdnmytie o)
is the one of the tools of time management.

A) Avoid meetings

B) Planning each day effectively

C) Procrastination

D) Neglecting long term projects

RO AVFBEOD TPSNTES, %WOTD TP SONTS.

A) msm:mgt SRR

B) &,808 @omosmod odnews

C) avow CHNE

D) Qesror=od o&meua”ﬂ%oq QORI

A “Wondering Generality” refers to

A) Poor essay writing

B) Someone without a goal or set direction _.
C) Aflexible and realistic goal setting strategy 4
D) A specific course of action |
" RORRT, N zsasmvoas” Q00T

A) 393 33 3, 2005 udo:bo@m

B) oo E enme Snnrssess 0188 o ) AT

C) %3?\% a rbsa@@ R0 mrddwm %*r{raocs o0 T3R80 203,

D) dndE socde s a o3

17. Barriers to creativity are
‘A) Attitude , - B) Perceptions
C) Employees D) All of the above
R wI&e0B0D BB adnond
A) IB=YE B) n&%
C) <950 D) &0edT eegp
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18. Working with others to identify, define and solve problems is known as

A) Trouble creating B) Trouble shooting
C) Negotiation D) Problem solving
23e80305BR007 OB BRI , €30 RSB, MY, NOTIER, 38,539, DA B WRBOILO
B3 DS BeFLITOTWD
A) BROTBODY, B AROI B) Sromdodd) BRBEReRAN
C) #SRT ZRRReBS D) R0%, wriemoRyed
19. Many human values seen good or right due to
A) Positive feelings B) Internal happiness
C) Natural acceptance D) All of the above
DO oS0 5339@5 NE0 FO0IRN w0 mzojomnden ple0)
A) R5T0ZT SRS B) 30308 X030¢R/ S303
ROLINT R3S D) &0eds 2330
20. To )Is used by a person to properly manage time
Af"'_..-To do list B) Effective file management
C) Action programmes D) Al of the above
RTODTIY BOCIIN VEIF LA L) 33,8030 VTOIRENTI LVTFTENED
A) BORT Ted, B) ®0m0a0500 8BS AR BH
C) s0dr cdredngd D) 2093 0P
21. The letter ‘M’ in SMART stands for
A) Meaningful B) Meeting
C) Measurable D) Money
SMART 202 @Z@TE) ‘M’ @gpcﬂ Clalx
A) Meaningful B) Meeting
C) Measurable D) Money

SPACE FOR ROUGH WORK
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Yoga helps to attain better

22.
A) Sleep B) Friendship
C) Knowledge D) None of the above
odnensy) EVBTONRRYILO FFH0D WREIBT.
A) 23, B) e
C) DI D) 0ed3 odnaymne e,
23. The letter ‘S’ in SMART stands for
A) Special B) Specific C) Social D) Scientific
SMART @0 InmE) ‘S’ ©TOT OPF
A) Special B) Specific C) Social D) Scientific
24. Leadership promotes
A) Team spirit B) Medium spirit
C) Low spirit D) No spirit
0T <Y VeI,
A) Topes3 o (8307 A0E) B) =og00 es%
C) sz &g D) 8 1y, -
25. is a specific area in which person needs to change.
- A) Psychological need B) Developmental need
C) Behavioural need D) Social need
2.2) W 3030 WRORLWeTIT zaam; oNwoNa.
A) TooRaE wne, B) eﬁzpa‘bc;p ©ng, "
C) R3rJod ong D) mowyess 533 58
26. Sarvangasana and Shavasana helps in preventing
A) Body pains B) Stress C) Back pain D) Diabetes
RS OMORT 0B) Je3oRTey O, Sdﬂ%ase; ABIOD BRRTT.
A) Bem Spex) B) w3z C) z:'s’m.=L SR D) &vpodes
SPACE FOR ROUGH WORK
D
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27.

By goal setting one can
A) Improve self confidence B) Lose ability
C) Make friends D) All of the above .

rHooRY, AFFORS (feewrAsont) Fowews
A) &3 DTIBTY, RIGIORERYWEBTD B) oo, FR), SYRBRvmInd

C) ety @Wmadeguaddd D) BedIawy,
28. Leadership skills are |

A) Conceptual skills : B)- Human skills -

C) Technical skills D) All of the above

TOODBIR P, Tied

A) 033 PBO,NWD B) =0 #ge,ned

C) 20088 PBO,N0 . D) 20O QP
20. Pareto’s principle is better knownas - rule.

A) 50 -50 , B) 60-40 - C) 70-30 D) 80 -20

T, Sednes 3BB[R, DO 20T FEDTORIT.

A) 50 — 50 B) 60 — 40 C) 70 - 30 D) 80 -20

-30. Saha-asthitva means .

" JA) Co-Existence B) Co-operation

C) Co-option D) Corporate idéntity.

RB- R 0BT

A) IB-3eRS B) x50

C) xa-esos% : D) =os3a0t500008 (aaw;ard‘ew‘) 833
31. The clearly stated goal looks at

A) What you want B) When you want to get it

C) How you will get it D) All of these

QOFHFN F RIBT 10 oma)d?&: eRAREIRIFI ? o’ B -

A) aaﬁaﬁ aﬂe@cbwao B) Q¢ e:sdai: a'széo:be)o wodaﬁ»mn

C) dey Jerk wcé’odaogeb o D) faaé)m?egya
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32.

33.

34.

35.

If the trait theory of leadership were true, then all leaders would possess
A) Charisma B) The same trait

C) Different traits D) Seven traits

TOVTIE UF 0 AW0BY) JWTINTT, e, F03BD I
BRODTITIT.

A) 230 B) estie mswi £aNEd

C) 07 msa@isamb D) o¢b eaghearwo

The technique used by the boss to inform a common message to all the workers
and staff

A) Notice B) Memo

C) Advertisement D) Announcement
FRoeROTOMND DY, FHRVFFRD 53080 %&&O@ﬁ@ﬁ mm:g k’odesa:% 89XV i
amdﬁa’% WIROZVT.

A) 308 T, B) 258 g,
C) %030 D)

Motivation is important for
A) Effective use of resources

C) Improved corporate image D) All of the above P

& eosit 080, TG P&

A) RoBIQONY TOFRITO L8 B) &58mer, 30 §moss Rowogirish

C) Rogos sasdprdess w3, D) S0¢OR e, \

The communication that is perceived by the ear e
A) Pictorial representation B) Oral

C) Auditory symbols D) Gestures

80008 1 %RV ROBBI

A) 2,38 2,803, B) &3P0s

C) Beormowoy (s8e3d) w@ﬁm D) o@mopSodnsd

SPACE FOR ROUGH WORK
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36. An observable and measurable end result to be achieved is called

A) Vision B) Mission C) Goal D) Result

mi\ % 3080 BYONWIBIWT 038R0 HOTo0Z m@ﬁaz@d@ &en BeFTOTO

A) BRUESFE, B) @ccdnedes C) nd D) 93003
37. plays a vital role in the success of an individual.

A) Stress management B) Stress

C) Awareness D) Problem

28 Bgodd oI B0, TOTEW.

A) w33 ARFIS B) w3

C) 0y D) &R,
38. Communicating with others by gestures, actions, etc. is an example of

A) Verbal communication B) Action communication

C) Non-verbal communication D) None of these

RS, » 8,030 B00ZITRNY WRVT ROBHS SEANPYTO YVTOHOT

A) SPNHT XoBPDS B) 8 03%gs Xowws

C) =RPLYT BoTHS D) a@nsd odngnie o
39. The feedback under oral communication wiil be

A)*Very slow B) Moderate

C) Immediate D) No feedback

@WRLT FOTBS0DEG), T,88,030030

A) WIS B) =g aamonts

C) 30 D) &,83,03 @dom)de),
40. Interpersonal skills are referred to as

A) Social skills B) People skills

C) Soft skills D) All of these

©030° ;3603 PBO,TIY YOG FDITIMOTD

A) TRRRE TBY B) %I 3¢,

C) S @5@)5 D) aRndd oeedp

SPACE FOR ROUGH WORK
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PART -B
TR - W

Answer all questions. Each question carries 2 marks. (15x2=30)
DR @%ﬁ@m YVB0R. [ @gm 2 ©08nYRY BROQTIT.

41. Autocratic leadership style means
A) Leader has complete power
B) Opinion of the group is not taken
C) Discussion is not allowed
D) All of the above .
R@OFTO JocdEEs 8O wond
A) THODTI R0 QBT
B) moo&s eepeme, cdonert BT EBOTIYTO
C) wseni SRT EBRTORHTO
D) 0ed8 e
42. The purpose of value education is to
A) Foster universal core values B) Make the syllabus easy
C) Develop values in individuals D) Both A) and C)
SR, cdwog éﬁ\sad w008, VT e[0T
A) TFE T P, NY), WIRORHTH B) asségmwag ROPeTORIRTO
C) S3ne m’ae_)sﬁ%% Q)C?pro@do D) A) &= C) 0@
43. Which is the best method for stress management ?
A) Laughing B) Playing
C) Listening to music D) All of the above
133 AR EEeD 3R HFINERT .
A) Sros B) est3mordecd
C) Ronesd 503 D) 20edT aeee
SPACE FOR ROUGH WORK
D
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44. is/are the characteristics of extroversion.

A) Sociable B) Talkative

C) Assertive : D) All of the above
oo Lo E80% MEOEEN. ‘

A) geawd B) w38F

C) RROPFRLD D) 33009 2O,

45. Divergence dimensions of advertising creativity includes
A) Artistic values
B) Flexibility
C) Originality
D) All of the above :
2508030 ﬁdzsséwéodaa mpaﬂqzéoda £303RRONTIY, LW YRPOBTI.
A) Beogs a&:iaoéﬁe.i:
B) moaﬁmeé%&)%
C) Sheoyinss
D) B0e98 O,

46. Self-esteem is maintained through both and .

A) Self-promotion; Supplication
=8) _Se|f-reﬂection; Social comparison

"C) éélf-monitoring; Lack of reflective thinking
D) 5evelopment of an independent self; Development of an inter-dependent self
:s%zpmes 0B SORE0 RBIRVTRP aaﬁr&zﬂg@éd.
A) R0 ,2590; TR
B) Rpd0 T, 800; momnwE BRedd
C) :o;oﬁoo a‘be@;aadﬁ; %8P0 23033030 BRTS
D) 8 c530@3) m;cjao PR 0; 03030 BROONS A csodao PR Q)

‘ SPACE FOR ROUGH WORK
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is an example of time trap.

A) Delegating tasks to others

B) Unlimited social time

C) Studying in a location free from distractions

D) Thinking ahead

A0TSR 2,00 NTOBTHBRAS.
A) a3gen maﬁrﬁ@aﬂa Qo3RRI

B) e&=0a08 momns TNblevy

C) feoBots vgmns BT, o5 o

=0

D) S0z O3ReesRI)
48. Hygiene theory of motivation ig also called as

47.

A) Two factor theory of motivation B) Satisfaction theory
C) Dissatisfaction theory D) Basic needs theory
e FROFE, ATVOBTY BT &ert Eslevelapr Vit
A) I eoBoD 28R es03 ATROZ B) g AT
C) vaznoos z)cr?poé D) &wernz g ny R)CT%OB’
49, is very slow.
A) Verbal communication B) Non-verbal communication
C) Written communication D) Assertiveness P
20T APOTTONG.
A) PDF Fomz B) e@3P08 donzs
C) 993 B0z D) 3203 e0d3
50. Components of ethical values are NG
A) Trustworthiness B) Respect
C) Responsibility D) All of the above
- 388 ab’ae)ﬁn’ed 03N cRYBosd
- A) ommErS B) o -
C) mawoemd D) ed3 o053

SPACE FOR ROUGH WORK
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51.

52.

53.

54.

55.

Most important human values are

A) Co-operation B) Caring C) Honesty D) All of the above
BV, T Sreaecdd SPY,N

A) "’afad:a‘ B) ¥ daono@cb C) =9,550e883 D) 39T QP
Meditation is related to

A) Mind B) Body C) Coliege D) Teacher

(D) [ B %@?ﬁﬁdé ,oouofp,omhzﬁ

A) mmo B) dea C) mogexd D) &3e230°

Trait theory helps to explain

A) Some people are leaders B) Some people are not leaders

C) Successful leaders are effective D) Leadership involves extroversion
O ~mo§aj) DI, VBOFO ATo03) BRBIBLS ?

A) " goRdd moﬁaﬁdo B) 305 BITO I0IFID B,

C) 0333 To0ITI TOEEHRIFIO D) Oedcdesr 2 oo 2SO D, LTSl

Relaxation is best used when
A) Immediately following times of significant stress
B) At times of both low and high stress
C) At times of great stress
D) As part of a meditation routine
D00 evgEEnN WSRTRMZT.
A) 365@(5 ua’cécﬁ m‘mo&)dﬁa Q'BR’DNCN
B) S@da s:béo CIAR WSBT m‘aﬁaodod@
C) drac\i &rédd mo.’od@
D) o3 PoRFOD zpaﬁmﬂ

Creativity can be influenced by the relationship between an agency and

A) controllers B) channels
C) clients D) consumers

P umiﬁéoﬁom 0B mﬁg@ IEIDT ROWOFOOT B, ZFRRRWIIT.
A) 03003,37¢L B) @08 RO .
C) ewmoow (client) - D) o,®800

SPACE FOR ROUGH WORK






63323

Third Semester B.Com. Degree Examination,
August/September 2021

(CBCS Scheme)
Commerce

Paper 3.5 - BUSINESS ETHICS

Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answers should be written completely either in English
or Kannada.

SECTION - A

1.  Answer any FIVE from the following. Each question carries 2 marks : (5§ x 2 = 10)
s 3YNS o) WawEste DB aj%ﬁ@ﬂ U302, T3 B3 2 wosnied

(a) State any four principles of business ethics.
23590 §,38308) Toen, 33’:5 nemy, 392

(b)  Give the meaning of Corporate Culture.
02T 503,300 UFEIT ed.
® L)) Q

(c) What is Karma Yoga?
330f odeen HowBerd?

(d) Define advertising.
zsa&;coasd& DERER

(¢) What do you mean by CSR?
2.9%5. 6305, 0BBeR0?

()  Give meaning of ‘Honesty’.
‘TR PeIBI’ 0> eaqirwabd 892

(8) State two types of ethics.
QTR JF0T @3630&)&& 82,
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SECTION - B

Answer any THREE from the following. Each question carries 6 marks :
(3 x6=18)
FINT 0INIF)TBOR Saevy E’gé;iﬁe?ﬁ ou3da. I3 :—’bé‘;ﬁ 6 ozn :

Give a short note on different types of ethics.
8530 FBa0e wif eL LIL WB0DO.

Bring out six ways of helping employees to be proactive.
FOIMOTT ‘Butd eNried’ B)BREMINNTED FH0D SRRBIT 300 WRNYE), 893,

Briefly explain different types of Corporate Crime.
50038 (B0D) VT0IGT PRI, FogFemeN HIOAV.

Describe the basic principles of business ethics in short.
DI TRV LI Y1) 330{12}&')1 D30,

What are the features of personal ethics?
3,088 §,3530b ©FoneaF)H)?

SECTION - C

Answer any THREE from the following. Each question carries 14 marks :
(3 x 14 =42)
FINT 0I5 TBTR JoRTD JFNYI GuId3. z3 231 14 303N ¢

Present arguments for and against business ethics.
S[%oT & dv3ob 30 — VRGP T V0B

Explain the functions and importance of Corporate Culture.
an?,ﬁ (BoHR) R07,30d FIODF BB BOBINYEY DI00.

Describe the ethical issues in information technology.
B0&3 30321 Fo0FT F3vIod zonidne wif HI02.

Explain the importance and characteristics of Karma yoga.
‘Fof odeen'd 5333053033 ogends), H3020.

Explain the code of ethics for financial professionals.
BOTIR) (BPrE) F3IB0 &85 F0&30d wif HZOD.

2/2



RO RO AR 63323

Ill Semester B.Com. Degree Examination, March/April 2022
(CBCS Scheme)
COMMERCE
Paper - 3.5 : Business Ethics

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in English or in
Kannada.

SECTION - A

1. Answer any five of the following sub-questions. Each sub-question carries
two marks. (5%2=10)
BINS CBRJYTITTR DT LWB-TFReR (0B0OR. B3 GVT-BF1t QTR L508MED.

a) Give the meaning of Business Ethics.
39,3090 5,898’ o eﬁzsrasagt Qed&.

b) What is honesty ?
09, 3796358 DOTTED ?

c) What do you mean by Crisis management ?
WL, ITVE B D0TTE ?

d) State the meaning of corporate governance. ~
FoPr et HBYST OHEBIY, ed.

e) Who is a shareholder ?
R0 DoWS 03393 9

f) State any two types of business ethics.
33,8590 8T CIRPYTITTR TR QPNYY, SPA.

g) What is meant by insider trading ?
€30807 B,:HOT 0BT ?

SECTION - B

Answer any three of the following questions. Each question carries six marks. (3x6=18)
BINST CINPYTITTR BRTO BB NROR w0ZOR. TS T,ZNert T Losned.

2. Give the importance/significance of business ethics.
3,350 38308 :TITS), ed.

3. Discuss briefly the ethical issues of information technology.
Wdod F03,2TT §3T30D DTN wif BodTaon WesF .

P.T.O.
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4.

List out the composition of board of directors.
QB eTT oorYoD ﬁooﬁ.@euéodmgl T3 SRA.

State the impact of Corporate culture.
TORPETees® 730:3@3033 a;e,mm% SO,

. Write a short note on Birla Committee.

WORF Fedots uzj‘ OTV £333£3 WTBOWD.

SECTION -C

Answer any three of the following questions. Each question carries
fourteen marks. (3x14=42)
FYNT C3REYTOETR [t SZnen evgor. B3 I3n TOTHLR, LBOFNLL.

7.

10.

11.

Mention the factors influencing business ethics and explain in detail.
239,390 883000 20ee3 27053 WeddT V0BT, 0B eD 2F) HWOR.

What is Karma Yoga ? Explain the principles and benefits of Karma Yoga.
FROFO3REN 0BT ? FROF3Rens ggneb o=y a;oiraeuﬁrﬁ@aﬂgt WOA.

Discuss the ethical issues in marketing.
T30 FowoHIT 5,88 sazsadmfs% W3R,

Explain the arguments for and against Corporate Social Responsibility.
FOTPF Bees® T8 W00 TS &0 ;Ddac;pd mcﬁﬁ@a&& QTOX.

Explain the scope and importance of Corporate Governance.
BOTPF O SBOIT a9, &) TR 352, 330080, o), DO
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First Semester B.B.A. Degree Examination, August/September 2021
(CBCS Scheme — 2018-19 onwards — Freshers and Repeaters)
Business Administration

Paper 1.6 - MANAGEMENT PROCESS

Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answer should be written in English only.

SECTION - A

1. Answer any FIVE of the following. Each question carries 2 marks. (5 x 2 = 10)
(a) Define Management.
(b) What is a plan?
(c) What is span of control?
(d) Give the meaning of organizational chart.
() What is Democratic Leadership?
(f) Define staffing.

(g Give the meaning of written communication.

SECTION - B

Answer any THREE of the following. Each question carries 6 marks :
(3 x6=18)

2. Explain the features of Management.

3.  Briefly explain the objectives of planning.

4.  What are the essentials of a sound control system?
5. Is Management an art? Explain.

6. What are the merits and demerits of line organization?
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SECTION - C

Answer any THREE of the following. Each question carries 14 marks :
(3 x 14 = 42)

Explain Mc Gregor’s X and Y theory of motivation.
Explain the importance of co-ordination.

Define communication. State the common barriers to communication in an
organization.

Explain the different types of plans.

Explain the procedure involved in selection of a candidate.

2/2
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VI Semester B.B.A. Examination, September/October 2022

(CBCS) (F+R) (2016-17 and Onwards)
BUSINESS ADMINISTRATION
6.6 : Compensation Management

Time : 3 Hours

Answer any five sub-questions. Each question carries two marks.
1.

Instruction : Answers should be written in English only.

SECTION - A

a) What is Performance Standard ?

b) What is Fringe Benefits ?

c) Define the term Wage.

d) Give the meaning of Incentive.

e) What is Wage Structure ?

f) What do you mean by Piece Rate System ?

g) State any two responsibilities of Pay Commission.

SECTION - B

Answer any three questions. Each question carries six marks.

AU

Answer any three questions. Each question carries fourteen marks.
7.

8.

9.
10.
11.

State various objectives of Performance Appraisal.
Distinguish between Salary and Wages.

Explain various benefits of Compensation.

List the Financial rewards for Sales personnel.

Explain the factors MNC’s consider for payment of salaries.

SECTION-C

Explain the various techniques of Job Evaluation.
Explain various theories of Wages.

What is MBO ? Explain advantages and disadvantages of MBO.

64630

Max. Marks : 70

(5x2=10)

(3x6=18)

(3)(1 4=42)

What are the factors influencing Compensation structure ? Explain.

Discuss various types of Incentives.
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